

15<sup>th</sup> Floor 6750 Ayala Office Tower Ayala Avenue, Makati City, 1226 Philippines Tel No. (+632) 908-7500 / Fax No. (+632) 908-7501

8 October 2014

PHILIPPINE STOCK EXCHANGE, INC.

**Disclosure Department** 

4/F, Philippine Stock Exchange Center PSE Center, Exchange Road Ortigas Center, Pasig City

Attention: MS. JANET A. ENCARNACION

Head, Disclosure Department

#### Gentlemen:

In compliance with the provisions of SRC Rule 19 (6), we are submitting herewith a copy of the Final Tender Offer Report (Amendment to SEC Form 19-1) which was filed by Paxys N.V. with the Securities and Exchange Commission on 8 October 2014 which includes, among others, the results of the tender offer conducted by Paxys N.V. for Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of Paxys, Inc.

We trust that the foregoing will be sufficient to inform the investing public.

Very truly yours,

PAXYS, INC.

TARK DAVID P MARTINEZ

Corporate Information Officer

# COVER SHEET COMPANY REGISTRATION AND MONITORING DEPARTMENT

Nature of Application							SEC	Regis	tratio	n Nur	nber							
	TEN	DER O	FFER				]	6	6	0	9							
						For	mer (	Compa	anv N	lame								
PAX	TY	Ts.	Т	П	N	⊤ <b>c</b> .	1	1	<u> </u>	T		T	$\Box$	П	Т	_		T
			Γ							$\Box$				$\Box$				
				•						•								
								NDE		•								
	$\overline{}$	$\overline{}$	_		_	N.	ew Co	ompar T	ny iNa T	me T	<u> </u>		_	_	_	T		
	Т	Т	Т			Ι'''		Т					Г		Τ			
		_																
	$T^{-}$	Τ	T			Π		Τ		П		Γ		Г			Ī	Γ
			Princ	ipal (	Office	(No./	/Stree	t/Bara	angay	//City/	Town	) Prov	/ince	)				
15/F 6	7	5	0		Α	Y	Α	L	A	T	0	F	F	T	С	E		
										•		•	•			•		
T O W	E	R		Α	Υ	A	L	Α		Α	V	E	N	U	E			
M A K	Α	T			С	1	T	Υ				L_						
Company's	Email	Addre	ess	1						ATION Numbe 0	-	l	_ <u>c</u>	ompa	ny's F 908-	Fax N 7501	umbe	r/s
CONTACT PE			T PER	RSON	INFO	DRMA	TION											
			Ema	ail Add	dress				Ţ	eleph	one/F	ax N	umbe	rs				
		eves@	nail Address Telephone/Fax Numb  @accralaw.com 830-8000/403-7007			7007												
								•										
22nd Floor,	Contact Person's Address  22nd Floor, ACCRALAW Tower, 2nd Ave. Cor. 30th St., Crescent Park West, Bonifacio Global City 0399  Taguig City																	
	To be accomplished by CRMD Personnel																	
Assigned Prod	essor:			То	be a	ccon	iplish —	ied by		vid Pe ate	erson 	nei —			Signa	ture		
Document I.D.																		
Received by Corporate Filing and Records Division (CFRD)					_													
Received by Corporate Filing and Records Division (CFRD)  Forwarded to:  Corporate and Partnership Registration Division Green Lane Unit Financial Analysis and Audit Division Licensing Unit Compliance Monitoring Division																		

### **SECURITIES AND EXCHANGE COMMISSION** SEC FORM 19-1

**TENDER OFFER REPORT** 

Check the appropriate box:



Amendment No. 1 - Final Report

Items Amended by the Filing - <u>Items 1, 2, 3, 4, 5, 6 and Annexes "A", "B, "C", "E", "I", "J", "K" and "K-1"</u>

- 1. PAXYS, INC. Exact Name of Subject Company as Specified in its Charter
- (a) 15<sup>TH</sup> FLR., 6750 AYALA OFFICE TOWER, **AYALA AVENUE, MAKATI CITY** Address of Principal Offices

(SEC Use Only) (c) Industry Classification Code

1226

Postal Code

SECURITIES AND EXCHANGE

- (b) SEC Identification Number 6609
- (d) BIR Tax Identification Number 000-233-218
- 2. PAXYS N.V. Name of Bidder/Buyer
- (a) KAYA W.F.G. (JOMBI) MENSING 36, Curação Address of Bidder/Buyer

<u>NA</u> Postal Code

<u>Common Shares</u>
Title or Class of Securities Subject of the Tender Offer

SEC Form 19-1 February 2001

#### Item 1. Subject Company and Class of Security Subject of the Tender Offer

- (a) The subject company is PAXYS, Inc. ("PAX" or the "Company"), a corporation duly organized and existing under and by virtue of the laws of the Philippines, with principal office at the 15<sup>th</sup> Floor, 6750 Ayala Office Tower, Ayala Avenue, Makati City.
- (b) As of 31 July 2014, PAX had an issued and outstanding capital stock of One Billion One Hundred Forty Eight Million Five Hundred Thirty Four Thousand Eight Hundred Sixty Six Pesos (PhP1,148,534,866.00) consisting of One Billion One Hundred Forty Eight Million Five Hundred Thirty Four Thousand Eight Hundred Sixty Six (1,148,534,866) issued, outstanding and fully paid common shares of stock (the "Issued Shares").

The bidder, Paxys N.V. (hereinafter referred to as the "Buyer") proposed to acquire all shares in PAX held by the PAX minority shareholders (i.e., all the shareholders of PAX other than All Asia Customer Service Holdings Ltd. ("AACSHL") or up to a total of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock representing forty five and 7/100 percent (45.07%) of the Issued Shares at a price of Three Pesos and 20/100 (PhP3.20) per share.

(c) The shares subject of the tender offer <u>were</u> listed and traded in the Philippine Stock Exchange ("PSE"). The high and low sales prices of the PAX shares traded in the PSE for each quarterly period during the past two years <u>were</u> as follows:

YEAR	G	)1	C	22	G	23	C	)4
	High	Low	High	Low	High	Low	High	Low
2012	3.30	1.34	3.32	2.39	3.39	2.64	3.47	2.72
2013	3.05	2.60	2.97	2.00	2.35	1.90	2.49	1.85
2014	2.72	2.13	2.85	2.33	N/A	N/A	N/A	N/A

#### Item 2. Identity and Background of the Buyer

The Buyer, who is filing this Tender Offer Report, is a limited liability company organized and existing under the laws of the Curaçao with address at Kaya W.F.G. (Jombi) Mensing 36, Curaçao. As of the date hereof, the Buyer is a wholly owned subsidiary of PAX as follows:

Name of Stockholder of the Buyer	Citizenship	No. of Shares Owned	Percentage
Paxys, Inc.	Please <u>see</u> Foreign Ownership Report attached hereto as ANNEX "A"	7,968,614	100%

The members of the Board of Directors and the executive officers of the Buyer with their respective business address, principal occupation and citizenship, are as follows:

#### Board of Directors / Executive Officers

Name of Director	Business Address	Principal Occupation	Citizenship
Amacuro	Kaya W.F.G. (Jombi) Mensing	Managing	Curacao
Management.N.V.	36, Curacao	Director	

	Roger Leo A. Cariño	Kaya W.F.G. (Jombi) Mensing	Managing	Filipino
		36, Curacao c/o 15 <sup>th</sup> Floor 6750	Director	-
		Ayala Office Tower Ayala		
		Avenue Makati City Philippines		
	Tarcísio M. Medalla	Kaya W.F.G. (Jombi) Mensing	Managing	Filipino
		36, Curacao	Director	
1		c/o 15 <sup>th</sup> Floor 6750 Ayala Office		
		Tower Ayala Avenue Makati City		
		Philippines		

The Buyer has not been convicted in any criminal proceeding during the last five (5) years. To the best of its knowledge, none of the above-named directors and executive officers have been convicted in any criminal proceeding (excluding traffic violations or similar misdemeanors) during the last five (5) years.

The Buyer is not, and has not, during the last five (5) years, been a party to a civil proceeding of a judicial or administrative body of competent jurisdiction, domestic or foreign, which as a result of such proceeding was or is subject to any order, judgment or decree, not subsequently reversed, suspended, or vacated, permanently or temporarily enjoining, barring, suspending or otherwise limiting involvement in any type of business, securities, commodities or banking.

To the best of its knowledge, none of the above-named directors and executive officers, during the last five (5) years, have been a party to such civil proceedings.

#### Item 3. Purpose of the Tender Offer and Plans or Proposals of the Buyer

This offer is in line with the objectives of PAX to provide its minority shareholders with the opportunity to monetize their investment and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because PAX has been looking at various alternatives for about 2 years now to redeploy the cash reserves of the PAX Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified.

At this time, there are no concrete plans or proposals which relate to or would result in an extraordinary corporate transaction, such as merger, reorganization or liquidation, involving PAX and its subsidiaries. Further, as of date, there are no plans or proposals which relate to or would result in the transfer of a material amount of assets of the PAX Group.

As of the date of this Tender Offer Report, the consolidated assets of PAX consist mostly of cash and these funds are placed in short-term money market investments.

The Board of Directors of PAX is considering to reduce the number of directors, after the completion of the tender offer. Aside from the foregoing, there are no plans or proposals which relate to or would result in a change in the term of the Board of Directors of PAX, or to change the material term of the employment contract of any executive officer.

As of the date of this Report, there are no plans or proposals which relate to or would result in: (i) any material change in the present dividend rate or policy or indebtedness or capitalization of PAX; (ii) any material change in the corporate structure or business of PAX; (iii) causing the Issued Shares to be delisted from the PSE; or (iii) causing PAX to no longer be subject to the reporting requirements of the Securities Regulation Code ("SRC") Rule 17.

Under the current PSE rules, if a company fails to comply with the minimum public ownership requirement, involuntary delisting procedures may be initiated. Thus, if as a consequence of the Tender Offer, the public ownership of PAX falls below the minimum prescribed by the PSE, PAX will have to apply for voluntary delisting with the PSE prior to the PSE instituting involuntary delisting procedures. If PAX is delisted, its shares will no longer be traded in the PSE and this could affect investors' ability to liquidate SEC Form 19-1

February 2001

their investments. Also, any capital gains tax generated from the subsequent sale or transfer will be subject to prevailing capital gains taxes. Subsequent sale or transfer of shares will also be subject to documentary stamp tax.

If as a result of the Tender Offer, PAX shall cease to be a reporting company as defined in the SRC and SRC Rules, AACSHL intends to cause PAX to take such steps necessary to terminate its reporting obligations under the SRC.

As PAX has maintained the minimum public float level of ten percent (10%) required by the PSE after the tender offer, PAX continues to be listed with the PSE and will continue to comply with its reporting obligations under the SRC.

#### Item 4. Interest in Securities of the Issuer

- (a) The aggregate number of shares of PAX which was the subject of the Tender Offer was Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock representing forty five and 7/100 percent (45.07%) of the Issued Shares, to be purchased at the price of Three Pesos and 20/100 (PhP3.20) per share (the "Tender Shares"). The Buyer does not own or hold any beneficial interest in the Tender Shares.
- (b) There has been no transaction by the Buyer or any of the latter's directors or executive officers in the Tender Shares in the past sixty (60) days.
- (c) The Tender Offer period expired on 12:00 p.m. of 29 September 2014. A total of Three Hundred Forty Five Million Six Hundred Twenty Two Thousand Four Hundred Seventy Seven (345,622,477) shares were tendered.
- (d) The Tendered Shares were crossed on the PSE on 8 October 2014. Settlement for the Tendered Shares will begin no later than 13 October 2014.

### Item 5. Contracts, Arrangements, Understandings or Relationships with Respect to Securities of the Issuer

As stated under item 1b of this report, the Buyer proposes to acquire all shares in PAX held by the PAX minority shareholders through the conduct of a voluntary tender offer. As such, there will be no subscription agreements since the Buyer and PAX do not and will not have a negotiated sale for subscription of the shares of the Company.

#### Item 6. Materials to be Filed as Exhibits

The following Tender Offer materials <u>were</u> be published, sent, or made available, by the Buyer, to the shareholders of PAX:

(a) Tender Offer Report

(SEC Form 19-1);

(b) ANNEX "A"

Foreign Ownership Report referred to in Item 2 of the Tender Offer Report

(c) ANNEX "B"

Terms and Conditions of the Tender Offer for Common Shares of PAXYS, Inc.

(d) ANNEX "C"

Notice to Stockholders of the Intention to conduct a Tender Offer for Common Shares of PAXYS, Inc. (with attached Affidavit of Publication dated 18 August 2014 of PhilSTAR Daily, Inc.)

SEC Form 19-1 February 2001 4

(e)	ANNEX "D"	Notice to Stockholders of the Tender Offer for Common Shares of PAXYS, Inc.
(f)	ANNEX "E"	Form of Application to Tender Shares in PAXYS Inc.
	ANNEX "E-1"	Sample Form of Affidavit of Loss
	ANNEX "E-2"	Sample Form of Special Power of Attorney (for individual stockholders)
(i)	ANNEX "E-3"	Sample Form of Secretary's Certificate (for corporate or juridical stockholders)
(j)	ANNEX "E-4"	Sample Form of Partnership Resolution (for partnerships)
	ANNEX "F"	Security Bank Corp.'s confirmation that sufficient resources are available to satisfy full acceptance of the offer
(l)	ANNEX "G"	Instructions to PSE Brokers
(m)	ANNEX "H"	Sample Form of Letter to Tender Offer Agent from PSE Brokers
(n)	ANNEX "I"	Copy of the Fairness Opinion issued by Multinational Investment Bancorporation dated 18 August 2014
(o)	ANNEX "J"	Copy of the Report on the Results of the Tender Offer
(p)	ANNEX "K"	Affidavit of Publication of The Philippine Star dated 4 September 2014
(q)	ANNEX "K-1"	Affidavit of Publication of the Philippine Daily Inquirer dated 4 September 2014

#### **SIGNATURE**

After reasonable inquiry and to the best of my knowledge and belief, I certify that the information set forth in this report is true, complete and correct. This report is signed in the City of Makati, Metro Manila, on 8 October 2014.

PAXYS N.V.

Ву:

TARCISIO M. MEDALLA Managing Director

ROGER LEO A. CARIÑO Managing Director

SEC Form 19-1 February 2001 PAXYS, INC.

15<sup>th</sup> Floor 6750 Ayala Office Tower Ayala Avenue, Makati City, 1226 Philippines Tel No. (+632) 908-7500 / Fax No. (+632) 908-7501

3 October 2014

#### THE PHILIPPINE STOCK EXCHANGE, INC.

Disclosure Department 4<sup>th</sup> Floor, Philippine Stock Exchange Centre PSE Centre, Exchange Road Ortigas Center, Pasig City

Attention:

Ms. JANET ENCARNACION

Head, Disclosure Department

Subject:

Foreign Ownership Report

as of 30 September 2014

Gentlemen:

Enclosed herewith is our report on the ownership of securities by citizenship as of 30 September 2014, as provided by our stock and transfer agent, Rizal Commercial Banking Corporation.

We trust that you will find the attached document in order.

Very truly yours,

PAXYS, INC.

Corporate Information Officer

\_\_

RIZAL COMMERCIAL BANKING CORFORATION 9/F YUCHENGCO TOWER I. RCBC FLAZA 6819 AYALA AVENUE, MAKATI CITY TEL. 894-9055

RUNDATE : Oct 01, 2014

PAXYS, INC. (FORMERLY FIL-HISPAND)
OWNERSHIP OF SECURITIES BY CITIZENSHIP
AS OF: 09/30/2014

FOR CLASSES : COMMON

CITIZENSHIP	SUBSCRIBED/ OUTSTANDING	AMBUNT	PAID-UP	PERCENTAGE HOLDINGS	NLIMBER OF STOCKHOLDERS
CHER ALTEN	749,201,309	749,201,369,00	749,201,309.00		
	399,268,165	399,268,163,00	399,268,165.00	34.46	7
AMERICAN	767.00	65,391,00	00"162"99	50,0	
. AUSTRALIAN	genf	00.1	000	00.0	
TOTALS	1,149,534,866	1,148,534,866,00	1,148,534,866.00	100.00	7**) **-

NONHO H NONHO

SCHEDULE OF CAPITAL STOCK

SUBSCRIBED		
ISSUED AND CUTSTANDING	•	770 # 11 0 # 1
AMOUNT 15SUED		000 000
NO. OF SHARES	-	( ( ( ( ( ( ( ( ( ( ( ( ( ( ( ( ( ( (

CAPITAL STOCK

TOTAL SHARES

1,800,000,000 1,148,534,866

:::

#### TERMS AND CONDITIONS OF THE TENDER OFFER

Buyer	Paxys N.V. (the "Buyer")
Subject Company	PAXYS, Inc. ("PAX" or the "Company")
Tender Shares	The aggregate number of shares of PAX which is the subject of the Tender Offer is
	Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty
	Eight (517,690,828) common shares of stock representing forty five and 7/100 percent
	(45.07%) of the Issued Shares (the "Tender Shares").
Tender Offer Price	PhP3.20
Tender Offer Period (the	The Tender Offer Period shall commence at 9:00 a.m. of 1 September 2014 and end
"Tender Offer Period")	at 12:00 p.m. of 29 September 2014, unless extended by the Buyer with the prior
	approval from the Securities and Exchange Commission (the "SEC")
Cross Date	No later than 8 October 2014
Settlement Date (the	No later than 13 October 2014
"Settlement Date")	
Tender Offer Agent (the	AB CAPITAL SECURITIES, INC.
"Tender Offer Agent")	Units 1401-1403, 14 <sup>th</sup> Floor Tower One & Exchange Plaza Ayala Triangle, Ayala
	Avenue, Makati City
	D. I
	Rebecca M. Sacueza - +632 8987617
	Jessie Mae Esmani - +632 8987520
Stock Transfer Agent	RCBC STOCK TRANSFER PROCESSING SECTION
	Ground Floor, Grepalife West Building
	221 Sen. Gil Puyat Avenue, Makati City
	lool C. Cruz. 1622 902 0362 / jacoruz @roba com
	Joel S. Cruz - +632 892-9362 / joscruz@rcbc.com
	Jun B. Madrid - +632 892-7566 / abmadrid@rcbc.com
	Walter R. Briones - +632 892-0426 / wrbriones@rcbc.com

### Application to Tender Shares

Any stockholder who wishes to offer all or a portion of their shares in PAX for sale to the Buyer (the "Tender Seller") should complete the Application to Tender Shares, and submit the following to the Tender Offer Agent at the address of the Tender Offer Agent set forth above before 12:00 p.m. of 29 September 2014:

- (i) Duly accomplished Application to Tender Shares in PAXYS, INC. (ANNEX "E" of SEC Form 19-1) (the "Application to Tender Shares") (in duplicate);
- (ii) Lodgment of shares in PAX in favor of AB Capital Securities, Inc.; and
- (iii) (A) If the Tender Seller is a natural person, two (2) valid identification cards of such stockholder containing his specimen signature; a duly accomplished signature card containing his specimen signature verified by his broker or an officer of the bank where he is maintaining an account; and if such stockholder is acting through an attorney-in-fact, a duly notarized Special Power of Attorney substantially in the form attached hereto as ANNEX "E-2";
  - (B) If the Tender Seller is a corporation, a notarized Secretary's Certificate substantially in the form attached as ANNEX "E-3" setting forth the resolutions of the tendering stockholder's Board of Directors authorizing the tender and sale of its shares in PAX and designating the signatories for such purpose; certified true copies of its Articles of Incorporation and By-laws and latest amendments thereof; and duly accomplished signature card containing the specimen signature of its authorized signatories validated by the Corporate Secretary and verified by its broker or an officer of the bank where it is maintaining an account; and
  - (C) If the Tender Seller is a partnership, a notarized Partnership Certificate substantially in the form attached as ANNEX "E-4" setting forth the resolutions authorizing the tender and sale of its shares in PAX and designating the signatories for such purpose; certified true copies of its Articles of Partnership and latest amendments thereof and duly accomplished signature card containing the specimen signature of its authorized signatories verified by its broker or an officer of the bank where it is maintaining an account

Delivery of the above required documents to the Tender Offer Agent shall be deemed made only upon actual receipt thereof by the Tender Offer Agent. The Buyer reserves the right to require presentation of additional documents in respect of its determination of the validity, eligibility and acceptability of any shares in PAX tendered pursuant to the Tender Offer.

Lodgment	with	the
Philippine	Depositor	y &
Trust	Corpora	ation
("PDTC")	·	

Tender Shares must be received by the Tender Offer Agent in scripless form not later than 12:00 p.m. on 29 September 2014.

To ensure prompt receipt by the Tender Offer Agent:

(i) Tendering "scrip" stockholders (i.e. stockholder who hold share certificates) must submit the: (A) duly accomplished Application to Tender Shares and (B) Company stock certificates duly endorsed; to be verified by RCBC Securities, Inc., the stock and transfer agent of PAX, as valid and authentic certificates.

Such shareholder must also open a brokerage account with AB Capital Securities, Inc. in order for such tendered shares to be validated, accepted and purchased by way of a cross sale on the Philippine Stock Exchange ("PSE") on Settlement Date. Those stockholders whose stock certificate/s is/are lost should submit: (A) one (1) original of a duly notarized affidavit of loss; (B) a copy of the affidavit of loss as published in a newspaper of general circulation; (C) an affidavit of publication (of the affidavit of loss); and (D) a bond.

(ii) Tendering "scripless" stockholders (i.e. stockholders whose common shares are held by brokers under their respective PDTC accounts) who wish to accept the tender offer must instruct their brokers or custodian (the "PSE Broker") to electronically transfer their common shares to the Tender Offer Agent.

The PSE Broker who hold/s the common shares should, upon receipt or knowledge of the Notice to Stockholders of the Tender Offer for Common Shares of PAXYS, Inc. (ANNEX "D" of SEC Form 19-1), immediately notify the relevant stockholder that, should the stockholder wish to sell its/his/her common shares in PAX to the Buyer, the stockholder must instruct the PSE Broker to electronically transfer its/his/her common shares to the Tender Offer Agent, as custodian for such shares, on or before 12:00 p.m. on 29 September 2014 and instruct such broker or custodian to complete, execute, and return to the Tender Offer Agent prior to 12:00 p.m. on 29 September 2014 the Application to Tender Shares in accordance with the instructions in the aforementioned Application to Tender Shares.

When tendering shares, the PSE Brokers are required to submit a letter to the Tender Offer Agent (in the form attached as ANNEX "H" of SEC Form 19-1) on or before 12:00 p.m. on 29 September 2014, as well as the duly completed Application to Tender Shares and other documentary requirements.

### Acceptance of Tender Shares

At any time before the end of the Tender Offer Period, the Buyer shall, at its sole discretion, have the right to reject or accept any Application to Tender Shares which is not completed in full or which lacks any of the required attachments. The Tender Offer Agent will accept the Application to Tender Shares on behalf of the Buyer on the condition that the Applicant has been certified by the Stock Transfer Agent as a shareholder of PAX and that the signature/endorsement on the stock certificates matches the signature on file with the Stock Transfer Agent, if such is available.

If a Tender Seller does not have any signature card on file, or the signatures on the certificates and on the Application to Tender Shares differ from the signature on file with the Stock Transfer Agent, the Stock Transfer Agent will certify the same to the Buyer. The Buyer shall exercise its sole discretion to accept or reject the Application to Tender Shares. The Tender Offer Agent will rely on the signature affixed on the Application to Tender Shares and on the validated endorsement of the relevant stock certificates. The Buyer and the Tender Offer Agent shall not be required to make further inquiries into the authenticity of the signature.

#### Payment for the Shares

The Buyer shall be deemed to have accepted for payment all shares validly tendered and not properly withdrawn when it gives notice of acceptance to the Tender Offer Agent.

Payment for the shares so accepted will be deposited with the Tender Offer Agent. The Tender Offer Agent will act as agent of the Tender Seller for the purpose of receiving payments from the Buyer and transmitting payments to such Tender Seller. Check payments issued to the Tender Seller for the Tender Shares shall be made available by the Tender Offer Agent for pick-up by the Tender Seller or his duly authorized representative on the Settlement Date as defined above at the address of the Tender Offer Agent set forth above.

When collecting payments, the Tender Seller shall present the "Shareholder's copy" of the Application to Tender Shares as well as proper identification (e.g. driver's license, passport, or company I.D. with picture and signature). The duly authorized representative of the Tender Seller shall be required to present an authorization letter from the Tender Seller.

In any event, no payment shall be made for shares tendered beyond the Tender Offer Period. All Tender Shares that are subject to incomplete application as of 12:00 p.m. of 29 September 2014 shall be deemed to have been tendered beyond the Tender Offer Period. No payment shall be made without the Tender Offer Agent having timely received the duly accomplished Application to Tender Shares, the duly endorsed and validated stock certificates evidencing the PAX Shares and other documents required therein and herein.

Any payment not collected within thirty (30) calendar days from the time the checks are made available to the Tender Seller shall be dispatched, via registered mail, to the last recorded address of the Tender Shares at the risk of the latter.

Withdrawal	A Tender Seller shall have Buyer, at any time during th	the right to withdraw any Tender Shares tendered to the e Tender Offer Period.		
	by the Tender Offer Agent a name of the Tender Seller stock certificates evidencin Offer Agent, the serial num Tender Offer Agent prior to withdrawal of fractions of Te	ctive, a written notice of withdrawal must be timely received at the address set forth above. The notice must specify the and the number of Tender Shares to be withdrawn. If the g the Tender Shares have been delivered to the Tender obers shown on such certificates must be submitted to the othe physical release of such certificates. No request for ender Shares will be considered. The Buyer shall have the notice of the of receipt thereof.		
	Tender Shares shall be for t	ne Tender Offer Agent in respect of the withdrawal of the the account of the Tender Seller making the withdrawal.		
Taxes and Other Expenses	the Securities Clearing C Depository, stock certificate Shares purchased, and all of the Tender Shares to the	prokerage commission, value added tax, application fees of corporation of the Philippines or the Philippine Central es cost pertinent to the transfer to the Buyer of Tender cother applicable taxes and fees relating to the conveyance Buyer, shall be for the account of the Tender Seller.		
Representations and Warranties of the Tender Seller		ffer, the Tender Seller is deemed to have represented and lation to the shares tendered as follows:		
Concr	has good, valid ar	e, absolute, legal and beneficial owner of the shares and nd marketable title to said shares, free from any liens, I restrictions of any kind and nature;		
	clean title to such s	nas full authority and capacity to transfer good, valid and shares, and is not aware of any objection, adverse claim, ncerning its/his/her right to tender the shares;		
	<ul> <li>(iii) the Buyer will obtain full and valid title to such shares, free and clear from any warrants, interests, options, liens, claims, objections, disputes, and encumbrances and will be able to freely and fully exercise all rights and privileges arising from ownership of such shares, including but not limited to the right to vote and receive dividends;</li> <li>(iv)the shares are fully paid and non-assessable and there are no further amounts payable by it/him/her to PAX or to any other entity in respect of these securities; and</li> </ul>			
	constitute a breach any agreement or a	cholders, the transfer of the shares to the Buyer shall not of the constitutive documents of the Tender Seller or of parrangement, law, order or regulations or other issuances pares or Tender Seller.		
Expected Timetable	Tender Offer Period:	The Tender Offer Period shall commence at 9:00 a.m. of 1 September 2014 and end at 12:00 p.m. of 29 September 2014, unless extended by the Buyer with prior approval from the SEC		
	Cross Date:	No later than 8 October 2014		
	Settlement Date:	No later than 13 October 2014		

Application Form and SEC Form 19-1	Copies of the Application Form and the SEC Form 19-1 are also available from the following:
	AB CAPITAL SECURITIES, INC. Units 1401-1403, 14 <sup>th</sup> Floor Tower One & Exchange Plaza Ayala Triangle, Ayala Avenue, Makati City
	Rebecca M. Sacueza - +632 8987617 Jessie Mae Esmani - +632 8987520

## NOTICE TO STOCKHOLDERS OF THE INTENTION TO CONDUCT A TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

(with attached Affidavit of Publication dated 18 August 2014 of PhilSTAR Daily, Inc.)

TO ALL STOCKHOLDERS OF PAXYS, INC. ("PAX"):

This is to advise you that Paxys N.V. (the "Buyer") will make a tender offer to acquire all issued and outstanding common shares held by the stockholders of PAX at the price of PHP3.20 per share.

This offer is in line with the objectives of PAX to provide its minority shareholders with the opportunity to monetize their investment and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because PAX has been looking at various alternatives for about 2 years now to redeploy the cash reserves of the PAX Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified.

The information package on the terms and conditions of the tender offer shall be made available to you by our tender offer agent, AB Capital Securities, Inc., upon the commencement of the tender offer.

Very truly yours,

PAXYS N.V.

By:

By: (Sgd.)

Tarcisio M. Medalla Managing Director

By: (Sgd.)

Roger Leo A. Cariño Managing Director

#### AFFIDAVIT OF PUBLICATION

I, ARLYN F. SERVAÑEZ, of legal age, single, Filipino and with office address at c/o PhilSTAR Daily, Inc., 202 Railroad Street corner Roberto S. Oca Street, Port Area, Manila, after being duly sworn to in accordance with law, depose and state:

That I am the CLASSIFINDER MANAGER of the PhilSTAR Daily, Inc. a domestic corporation duly organized and existing under by virtue of Philippine laws with office and business address at 202 Railroad Street corner Roberto S. Oca Street, Port Area, Manila.

That the said corporation publishes THE PHILIPPINE STAR, a daily broadsheet newspaper published in English and of general circulation.

	•
	That the order ofPAXYS N.V.
	captioned as follows: NOTICE TO STOCKHOLDERS
	(Please see attached printed text) had been published In <b>The Philippine STAR</b> in its issues of:  AUGUST 18, 2014
FURTHER AFFIANT SAYETH NAUGHT. Manila, Philippines	ARLYN F./SERVAÑEZ
SUBSCRIBED AND SWORN to before affiant exhibited to me her Driver's September 24, 2012 which expiry date	me this 18TH day of AUGUST 20 14 License No. NO1-01-259491 issued by LTO on is September 24, 2015
Book No. 7	ATTY. AGUSTIN B. CABREDU Notary Plinic for Manila Intarial Commission No. 2013-109 Until December 31, 2014 Rm. 409, First United Bidg. Co.,

Escolia, Manila Roll No. 28047 PTR No. 2450249 / 1-2-14 / Manila IBP Life Member 05097 MCLE NO. 14 0000822

### NOTICE TO STOCKHOLDERS OF THE INTENTION TO CONDUCT A TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

18 August 2014

TO ALL STOCKHOLDERS OF PAXYS, INC.

This is to advise you that Paxys N.V. (the "Buyer") will make a tender offer to acquire all issued and outstanding common shares held by the minority stockholders of Paxys, Inc. ("Paxys") at the offer price of Php3.20 pershare,

This offer is in line with the objectives of Paxys to provide its minority. shareholders with the opportunity to monetize their investment and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because Paxys has been looking at various alternatives for about 2 years now to redeploy the cash reserves of the Paxys Group (which are substantially held by the Buyer), and as of date, there are still no definite of attractive opportunities that have been identified.

The information package on the terms and conditions of the tender offer shall be made available to you by our tender offer agent, AB Capital Securities, Inc., upon the commencement of the tender offer.

Company of the Control of the Contro

Very truly yours.

PAXYS N.V.

By: (Sgd.) Tarcisio M. Medalla Managing Director —

By: (Sgd.) Roger Leo A. Cariño Managing Director

### NOTICE TO STOCKHOLDERS OF TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

(for publication in two (2) newspapers of general circulation)

#### TO ALL STOCKHOLDERS OF PAXYS, INC .:

Please take notice that on 20 August 2014, Paxys N.V. (the "Buyer") filed a Tender Offer Report or Securities and Exchange Commission ("SEC") Form 19-1 (the "Report") with the SEC and the Philippine Stock Exchange, Inc. (the "PSE") pursuant to Section 19 of the Securities Regulation Code, as amended, for the acquisition of up to a maximum of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock (the "Tender Shares") representing forty five and 7/100 percent (45.07%) of the outstanding capital stock of PAXYS, Inc. ("PAX" or the "Company"), at an Offer Price of PhP3.20 per share (the "Tender Offer").

This offer is in line with the objectives of PAX to provide its minority shareholders with the opportunity to monetize their investment and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because PAX has been looking at various alternatives for about 2 years now to redeploy the cash reserves of the PAX Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified.

As of the date of this Tender Offer Report, the consolidated assets of PAX consist mostly of cash and these funds are placed in short-term money market investments.

The Tender Offer shall commence at 9:00 a.m. on 1 September 2014 and end at 12:00 p.m. on 29 September 2014 (the "Tender Offer Period"). The Tender Offer Period may be extended by the Buyer, subject to the prior approval of the SEC. Should any of the business days during the Tender Offer Period be officially declared a non-working holiday, the Tender Offer Period shall be extended by the number of business days corresponding to those days which are declared non-working holidays.

The Buyer's financial adviser, Security Bank Corp., confirms that the Buyer has available resources for the full implementation of the Tender Offer. Tender Shares validly tendered to, and duly accepted for payment by, the Buyer are intended to be crossed at the PSE on the date no later than 8 October 2014 (the "Cross Date"). The Settlement Date shall be on the date no later than 13 October 2014. Check payments for Tender Shares duly accepted for payment shall be made available for pick-up by the tendering stockholder (the "Tender Seller") or its duly authorized representative, from the AB Capital Securities, Inc. (the "Tender Offer Agent") at its offices between 9:00 a.m. and 3:00 p.m. on Settlement Date. When collecting payment, the Tender Seller shall be required to present the Application to Tender Shares in PAXYS, Inc. (ANNEX "E" of SEC Form 19-1) (the "Application to Tender Shares") (duly confirmed and accepted by the Buyer together with the proper identification documents. A duly authorized representative shall be required to present an authorization letter from the Tender Seller and valid identification.

Stockholders who wish to offer all or a portion of their Tender Shares should secure from, and submit a duly accomplished Application to Tender Shares to the Tender Offer Agent at Units 1401-1403, 14<sup>th</sup> Floor Tower One & Exchange Plaza Ayala Triangle, Makati City, together with the documentary requirements.

Tender Shares being tendered for sale must be received by the Tender Offer Agent in scripless form not later than 12:00 p.m. of 29 September 2014. To ensure prompt receipt by the Tender Offer Agent:

(i) Tendering "scrip" stockholders (i.e. stockholder who hold share certificates) must submit the: (A) duly accomplished Application to Tender Shares; and (B) Company stock certificates duly endorsed; to be verified by RCBC Securities, Inc., the stock and transfer agent of PAX, as valid and authentic certificates. Such shareholder must also open a brokerage account with AB Capital Securities, Inc. in order for such tendered shares to be validated, accepted and purchased by way of a cross sale

SEC Form 19-1 February 2001 on the PSE on Settlement Date. Those stockholders whose stock certificate/s is/are lost should submit: (A) one (1) original of a duly notarized affidavit of loss; (B a copy of the affidavit of loss as published in a newspaper of general circulation; (C) an affidavit of publication (of the affidavit of loss); and (D) bond.

(ii) Tendering "scripless" stockholders (i.e. stockholders whose common shares are held by brokers under their respective Philippine Depository and Trust Corporation ("PDTC") accounts) who wish to accept the tender offer, must instruct their brokers or custodian (the "PSE Broker") to electronically transfer their common shares to the Tender Offer Agent.

The PSE Broker who hold/s the common shares, should, upon receipt or knowledge of this Notice to Stockholders of the Tender Offer for Common Shares of PAXYS, Inc., immediately notify the relevant stockholder that, should the stockholder wish to sell its/his/her common shares in PAX to the Buyer. The stockholder must instruct the PSE Broker to electronically transfer its/his/her common shares to the Tender Offer Agent, as custodian for such shares, on or before 12:00 p.m. on 29 September 2014 and instruct such broker or custodian to complete, execute, and return to the Tender Offer Agent prior to 12:00 p.m. on 29 September 2014the Application to Tender Shares in accordance with the instructions in the aforementioned Application to Tender Shares.

When tendering shares, the PSE Brokers are required to submit a letter to the Tender Offer Agent (in the form attached as ANNEX "H" of SEC Form 19-1) on or before 12:00 p.m. on 29 September 2014, as well as the duly completed Application to Tender Shares and other documentary requirements.

The Tender Sellers shall have the right to withdraw the Tender Shares at anytime during the Tender Offer Period, by filing a written notice of withdrawal with the Tender Offer Agent before 12:00 p.m. of 29 September 2014.

Stockholders are advised to read the Application to Tender Shares, the Terms of the Tender Offer and SEC Form 19-1, copies of which may be obtained from the Transaction Broker, at the following contact details:

AB CAPITAL SECURITIES, INC. Units 1401-1403, 14<sup>th</sup> Floor Tower One & Exchange Plaza Ayala Triangle, Ayala Avenue, Makati City

Attention: Rebecca M. Sacueza - +632 8987617 Jessie Mae Esmani - +632 8987520

#### **APPLICATION TO TENDER SHARES** IN PAXYS, INC.

This application must prepared in triplicate completed in all parts.

1. Bidder/Buyer's Copy
2. Tender Offer Ag

- Сору
- 3. Applicant's Copy

DO NOT PROCEED UNLESS YOU HAVE DECIDED TO TENDER YOUR SHARES TO THE BIDDER

This APPLICATION TO TENDER SHARES IN PAXYS, INC. ("PAX") (the "Application") is made on the terms and conditions as set out in the Terms of the Tender Offer attached as ANNEX "A" to this Application which forms an integral part hereof PAXYS N.V. ("PNV" or the "Buyer") has appointed AB CAPITAL SECURITIES, INC. ("Tender Offer Agent") to receive and evaluate all Applications for acceptance by the Bidder.

The Tender Offer shall commence at 9:00 a.m. on September 1, 2014 and end at 12:00 p.m. of September 29, 2014 (the "Tender Offer Period" where the last day of the tender offer period is referred to as the "Expiry Date"). All Applications, together with the duly endorsed stock certificates of PAX and other required attachments specified below, must be received by the Tender Offer Agent not later than (as applicable) 12:00 noon of the Expiry Date at the address of the Tender Offer Agent specified below. Tendering holders of PAX shares must tender these shares by opening a brokerage account with AB CAPITAL SECURTIES, INC in order for such tendered shares to be validated, accepted and purchased by way of a cross sale on the Philippine Stock Exchange ("PSE") on the settlement date. The Buyer has prepared Securities and complying with the Securities Regulation Code, as amended, and its implementing rules. Before making any decision, each shareholder is advised to read the Terms of the Tender Offer and the SEC Form 19-1 Inquiries and requests for assistance and copies of the SEC Form 19-1 may be directed to the Tender Offer Agent, whose address and telephone numbers appear in the attached Terms of the Tender Offer. The Buyer has reserved the right to accept or reject this Application. This Application after being submitted may be withdrawn in writing. The notice of withdrawal, to be effective, must be received by the Tender Offer Agent before the end of the Tender Offer Period.

#### **APPLICATION TO TENDER**

The undersigned registered shareholder of PAX or the undersigned Participating Broker holding PAX shares on behalf of the beneficial owner of such shares and acting in accordance with and within the instructions of said beneficial owner, as the case may be (in either case, the "Applicant"), hereby applies to unconditionally tender the following common shares of PAX (the "Shares") to the Buyer, under the terms stated or referred to herein, and the Terms of the Tender Offer:

If covered by stock certificates, please fill in (and attach separate sheet if needed):

PAX Stock Certificate No.(s)	No. of Shares Represented by Each Certificate	No. of Shares Tendered
TOTAL		

The Buyer shall purchase the Tender Offer Shares in exchange for a fixed amount of PhP3.20 per PAX share ("Offer Price") without interest thereon and less any required taxes or costs the Buyer, the Company or any paying agent may be required to deduct or withhold, in accordance with applicable law or rules, including payment of any stock transaction taxes and brokers' commissions, and other fees customarily for the account of a seller in connection with the "crossing" of the common shares on the PSE to cover customary charges ("Transaction Charges") due from the Tendering Shareholder in relation to the sale of the Tender Offer Shares, in each case, by the Tendering Shareholder, by way of a block sale on the PSE The Offer price shall be withheld by the Company and applied as payment of the Transaction Charges. Payment of the Offer Price will be credited on the settlement date to the account of the PSE broker through whom PAX shares were tendered. For shareholders that tendered certificated PAX shares, payment of the Offer Price will be credited on settlement date to their accounts established with AB Capital Securities. Inc.

#### REPRESENTATIONS AND WARRANTIES

The Applicant hereby represents and warrants to the Buyer as follows: (i) it/he/she is the sole, absolute, legal and beneficial owner of the Shares and has good, valid and marketable title to the Shares, free from any liens, encumbrances, and restrictions of any kind and nature, (ii) it/he/she can and has full authority and capacity to transfer good, valid and clean title to such Shares, and is not aware of any objection, adverse claim, dispute or notice concerning its/his/her right to tender the Shares; (iii) the Buyer will obtain full and valid title to such shares, free and clear from any warrants, interests, options, liens, claims, objections, disputes, and encumbrances and will be able to freely and fully exercise all rights and privileges arising from ownership of such shares, including but not limited to the right to vote and receive dividends; (iv) the Shares are fully performed and non-assessable and there are no further amounts payable by [t/him/her to PAX or to any other entity in respect of these securities; (v) for corporate shareholders, the transfer of the Shares to the Buyer shall not constitute a breach of the constitutive documents of the Applicant or of any agreement or arrangement, law, order or regulations or other issuances applicable to the Shares or Applicant; and (vi) all information contained herein and in the documents submitted herewith are true—and correct and the signatures thereon are genuine, properly authorized and obtained without the use of fraud or coercion or any other device of consent.

The Applicant, in executing this Application, confirms that It/he/she: (i) has read and understood and unconditionally accepted the Terms of the Tender Offer and Instructions to Participating Brokers attached to this Application (as applicable), (ii) warrant/s having read and understood and relied solely upon the provisions of SEC Form 19-1 and the terms and conditions stated herein, and unconditionally accept/s said terms and conditions; and (iii) understand/s that no person has been authorized to give information or to make any representation with respect to the Tender Offer other that those specified and made in the SEC Form 19-1.

Applicant's / Participating Broker's Full Name in Print		nt's Mailing Address t Address, District and City)	Applicant's Country of Residence						
Applicant's / Participating Broker's Signature	Tel. No. (s)	Tax Identification Number	Nationality						
ACKNOWLEDGMENT									
This Application (with all the required attachments indicated here Offer,	in) is received subject to	the terms and conditions set forth in the	nis Application and to the Terms of the Tender						
On behalf of the Buyer: AB Capital Securities, Inc.									
Authorized Signature/s		Date	Time						

(PLEASE SEE BACK PAGE FOR DETAILED INSTRUCTIONS)

SEC Form 19-1 February 2001

REQUIRED ATTACHMENTS TO THIS APPLICATION

REQUIRED ATTACHMENTS TO THIS APPLICATION

Original PAX stock certificates duly endorsed; to be verified by the Tender Offer Agent with RCBC Securities, Inc. ("RCBC Securities"), the stock transfer agent of PAX, as valid and authentic certificates. For those whose stock certificate/s covering the Share/s is/are lost, such shareholder(s) should submit to tender Offer Agent the following: (i) one (1) original of a duly notarized affidavit of loss; (ii) copy of the affidavit of loss as published in a newspaper of general circulation (in substantially the form of ANNEX "E-1" to the Application); (iii) an affidavit of publication (of the affidavit of loss); and (iv) a bond in the amount of twice the closing price per share of the PAX shares as of the date of execution of the affidavit of loss, multiplied by the number of shares covered by each lost stock certificate.

For Individuals

For Individuals:
 For shareholders acting through an attorney-in-fact, a duly notarized Special Power of Attorney (in substantially the form attached as ANNEX \*E-2° to the Application and to the SEC Form 19-1 filled by the Buyer with the SEC). For married individuals who are Philippine citizens, their respective spouses must sign the below the signature space in the Irrevocable Power of Attorney to indicate marital consent to the sale of the Shares.
 Photocopies of two (2) valid identification cards showing the Applicant's signature and photograph, i.e., driver's license, tax identification card, Social Security Services/Government Services and Insurance System card, or passport.
 Duly accomplished signature card containing the specimen signature of the Applicant and verified by the Applicant's broker or by an officer of the bank at which the Applicant maintains an account (the signature card must specify the name of the broker and the broker's signatory or the name of the bank's signatory, as the case may be). A copy of at least one valid ID of the bank's signatory is also required.

For Corporations: (c)

Notarized Board Resolution (in substantially the form of the Secretary's Certificate attached as ANNEX "E-3" to the Application and to the SEC Form 19-1 filed by the Buyer with the SEC) authorizing the sale of the Shares, designating signatories for the purpose and indicating the specimen signatures of those signatories.

signatures of those signatories.

(ii) Copy of the SEC Registration or equivalent constitutive document certified as true copy of the original by the Corporate Secretary or equivalent person having official custody of company records.

(iii) Copy of latest Articles of Incorporation and By-Laws of the Applicant or equivalent constitutive document certified as true copy of the original by the Corporate Secretary or equivalent person having official custody of company records.

(iv) Duly accomplished signature card containing the specimen signature of the Applicant's designated authorized signatories and verified by the Applicant's broker or by an officer of the bank at which the Applicant maintains an account (the signature card must specify the name of the broker and the broker's signatory or the name of the bank and the bank's signatory, as the case may be).

For Partnership:

 Copy of SEC Registration or equivalent constitutive document certified as true copy of the original by the Partnership Secretary or equivalent person having official custody of the partnership freedras.
 Copy of the latest Articles of Partnership of the Applicant or equivalent constitutive document certified as true copy of the original by the Partnership Secretary or equivalent person having official custody of the partnership records.

 (iii) Notarized Partnership Resolution (in substantially the form of the Partners' Certificate attached as ANNEX "E-4" to the Application to the SEC Form 19-1 filed by the Buyer with the SEC) authorizing the sale of the Shares, designating signatories for the purpose and indicating the specimen signature of the signatories.

 (iv) Duly accomplished signature card containing the specimen signature of the Applicant's designated authorized signatories and verified by the Applicant's broker or by an officer of the bank at which the Applicant maintains an account (the signature card must specify the name of the broker and the broker's signatory or the name of the bank's signatory, as the case may be).

This Application, together with the duly endorsed stock certificates of PAX and other required attachments specified above, must be received by the Tender Offer Agent within the Tender Offer Period. Applications received after the end of the Tender Offer Period shall be rejected. Applications that are not properly completed, or lack of any of the required attachments will also be rejected. If the Tender Offer Agent is unable to verify the signature on the Application or the endorsement of the Company stock certificates, the Tender Offer Agent will also reject the Application.

For tendered shares covered by stock certificates, the documents specified above, including the corresponding stock certificates duly endorsed or for those with lost stock certificates, one (1) original copy of the notarized affidavit of loss; copy of the affidavit of loss published in a newspaper of general circulation; and bond, must be submitted to and received by the Tender Agent not later than 12:00 noon of the Expiry Date. Tendering shareholders whose shares are lodged with the Philippine Depository Trust Corporation should instruct their brokers to electronically transfer their shares to the Tender Offer Agent prior to 12 noon of the Expiry Date.

The shares tendered may be withdrawn by the shareholder of record at any time during the Tender Offer Period, but only up to 12 noon on the Expiry Date, by submitting a written request for the tendered shares to the Tender Offer Agent with a copy of the "Applicant's Copy" of the Application issued by the Tender Offer Agent.

For inquiries on the Tender Offer, please contact any of the following personnel of AB Capital Securities, Inc.:

Name: Contact Number Rebecca M. Sacueza +632 8987617

Name: Contact Number:

Jessie Mae Esmani +632 8987520.

For inquiries about the number of shares of a shareholder in PAX, please contact RCBC Stock Transfer Processing Section, Ground Floor, Grepalife West Building, 221 Sen Gil Puyat Avenue, Makati City, Telephone No +632 8929362, +632 8927566, +632 8920426 Contact Persons: Joel S. Cruz, Jun B. Madrid and Walter R. Briones.

COPIES OF THE SEC FORM 19-1 MAY BE OBTAINED FROM THE TENDER OFFER AGENT AT THEIR OFFICE ADDRESS ABOVE.

#### **AFFIDAVIT OF LOSS**

I,	depose a	and sa	, of leg	gal age, Filipino, married/single,	a resident of	,	do				
1.	I am a s	stockh	older PAXYS,	INC. ( the "Corporation"), owning, represented by the followi	s	hares register	ed under				
				Certificate No.	Number of S	Shares					
	1										
	2										
	3										
2.			entioned stocl te diligent sear	c certificates were discovered n ch;	nissing and ha	ave not been	founds or				
3.				c certificates have not been sold at they are free from any lien o end		ortgaged, or i	n any way				
4.	This affidavit has been executed for the purpose of securing new stock certificate/s in replacement of the stock certificates mentioned above and to request the Corporation to take the necessary steps to prevent the negotiation or transfer of the said lost certificate.										
IN WIT	NESS W	HERE	EOF, I have he	ereunto set my hand this,	2014 at	City.					
					[NAME]						
person				RN TO before me this o me the following:	2014, at	City, affia	ant who is				
			Competent Evi	dence of Identity	Community	Tax Certificate	-				
Affiant				ID Number and Expiry Date (if applicable)	Number	Date/Plac	e Issued				
		2									
Book N	o; lo lo of 2014.	;	-1								

#### **SPECIAL POWER OF ATTORNEY**

KNOW	ALL MEN BY 1	THESE PRESEN	TS:				
name,	appoint and	d constitute _, to be my true	gal age, with ac		with	residential	, hereby address at y name, place
(a)	my name to P	Paxys N.V. (the "	shares (the "PAX Buyer") for the pr ender Offer filed b	ice of Ph	P3.20 per sh	nc. (the "PAX nare, in accor	") registered in dance with the
(b)	effect the tran	sfer of said sha	deliver contracts, res from my nan t shall be made b	ne to the	Buyer (othe	r than to end	orse the stock
(c)			AX Shares from to ndicated in the Te				
(d)	To do or caus PAX Shares.	e to be done any	and all acts and o	deeds as i	may be nece	ssary to effect	t the sale of the
perform the prer with full or his su	any and every mises, as fully to power of substi ubstitutes, shall IN WITNESS	act and thing woney or all intents and itution or revocat lawfully do or car	hatsoever requise purposes as I continuous as	ite, neces ould do if ratify and nder and	ssary or prop personally pi confirm all t by virtue of t	per to be done resent and ac hat my said a hese present	e in and about ting in person, ttorney-in-fact, s.
				_	TENDERI	NG STOCKH	OLDER
					With	my marital co	onsent:
With the	Conformity of:			-			
Attorney	⁄-in-Fact						
SEC For	• •		18				

#### **ACKNOWLEDGMENT**

BEFORE M appeared:	Ε, ε	a Notary Public	for and in the City	of	, Philippines, pe	rsonally		
		Competent Evic	lence of Identity	Communi	1			
Name		Type of ID	ID Number and Expiry Date (if applicable)	Number	Date/Place Issued			
	1					]		
	2					1		
	2					-		
who represented to me that he/she is the same person who signed the executed the foregoing Special Power of Attorney and acknowledged to me that the same is his/her free and voluntary act and deed for the uses and purposes therein set forth.  IN WITNESS WHEREOF, I have hereunto affixed my signature and notarial seal in City,								
this day of			·	·				
Doc. No; Page No; Book No; Series of 2014.								

#### SECRETARY'S CERTIFICATE

	l,	, of legal , after having beel	age, Filipino, n duly sworn in acco								
state th	nat:										
1.	I am the duly elected organized and existing	ed and incumbent Coring under the laws of th	porate Secretary of e Philippines (the "C	Corporation"), with	_, a corporation office address at						
2.	At the regular/special meeting of the Board of Directors of the Corporation held on which meeting a quorum was present, the following resolutions were approved:										
		"RESOLVED, thatis hereby authorized, the "PAX Shares") in of the Corporation to F per share, in accordant Offer filed by the Buye	to sell its	() commo AX") registered in t er") for the price of	n shares he name PhP3.20						
		"RESOLVED FURTHER, that the Corporation authorizes, as it hereby authorizes, any () of the following persons:									
		N.A	SIGNATURE	SIGNATURE							
		to perform the followinecessary to impleme the stock certificates of for the PAX Shares from taxes and reasonable and all acts and deeds PAX Shares."	nt the foregoing rescovering the PAX Sha om the Tender Offe expenses, and (c) d	plution, including to ares, (b) to receive r Agent of the Buy to or cause to be o	endorse payment er net of done any						
3.		utions have not been ecords of the Corporati		, or modified and	remain valid in						
4.	The foregoing is in ac	cordance with the reco	rds of the Corporatio	n.							
	IN WITNESS WHER	EOF, I have hereunto s	set my hand this	, 2014 at	City.						
			Cor	[NAME] porate Secretary							

SUBSCRIBED	AND	SWORN	TO	before	me	this	2014, at	City,	affiant	who	is
personally known to me	exhib	oiting to me	e the	followi	ng:						

	С	ompetent Evi	dence of Identity	Community Tax Certificate			
Affiant		Type of ID	ID Number and Expiry Date (if applicable)	Number	Date/Place Issued		
	1						
	2						

Doc. No	,
Page No.	_;
Book No.	
Series of 2014.	•

#### **PARTNERSHIP RESOLUTION**

after ha	I,ving been duly sv	, of legal age, Filip worn in accordance wit	ino, with office h law, do here	address at _ by depose an	d state that	:		,				
1.	l am a general laws of the	partner of Republic of the	, a par Philippines	tnership duly ("Partnershi	organized a p"), with	and existi office	ing under t address	he at				
2.	At the regular/s approved:	pecial meeting of the l	Partnership he	eld on	, the folic	owing res	olutions we	ere				
	"RESOLVED, that the (the "Partnership") be authorized, as it is hereby authorized, to sell its () common shares (the "PAX Shares") in PAXYS, Inc. (the "PAX") registered in the name of the Partnership to Paxys N.V. (the "Buyer") for the price of PhP3.20 per share, in accordance with the Terms and Conditions of the Tender Offer filed by the Buyer;  "RESOLVED FURTHER, that the Partnership authorizes, as it hereby											
		authorizes, any _				s, as it ne	ыеру					
			NAME		SIGNATURE							
							_					
		to perform the f necessary to imp the stock certifica- for the PAX Sha taxes and reaso and all acts and PAX Shares."	plement the foliates covering the street from	regoing resoluthe PAX Share Fender Offer A es, and (c) do	ition, includi es, (b) to red Agent of the or cause to	ng to end ceive pay e Buyer n o be done	dorse ment let of any					
3.	The foregoing accordance with	resolutions have not the records of the Par	been revoked tnership.	l, amended,	or modified	and rer	main valid	in				
4.	The foregoing is	in accordance with the	e records of the	e Partnership.								
	IN WITNESS W	/HEREOF, I have here	eunto set my h	and this	_, 2014 at <sub>-</sub>		City.					
					[NAME]							

SUBSCRIBED A	ND	SWORN	TO	before	me	this	2014, at	City,	affiant	who	is
personally known to me e	iting to me										

	С	Competent Evidence of Identity		Community Tax Certificate	
Affiant		Type of ID	ID Number and Expiry Date (if applicable)	Number	Date/Place Issued
	_1				
	2				

Doc. No	;
Page No.	_;
Book No.	_;
Series of 2014.	

### CERTIFICATION FROM FINANCIAL ADVISER



19 August 2014

SECURITIES AND EXCHANGE COMMISSION SEC Building, EDSA, Mandaluyong City

#### Gentlemen:

We write in reference to Paxys N.V.'s tender offer (the Tender Offer) for Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828); common shares of stock of Paxys, Inc. at the tender offer price of Three Pesos and Twenty Centavos (Php3.20) per share, of an aggregate price of One Billion Six Hundred Fifty Six Million Six Hundred Ten Thousand Six Hundred Forty Nine and 60/100 Phillippine Pesos (Php1.656,610,649.60):

As principal bank of Paxys N.V., we confirm that as of the date of this letter. Paxys N.V. has sufficient deposits to satisfy full acceptance of the tender offer.

This confirmation imposes no obligation on us and any recourse under this letter is limited to Paxys N.V. and its assets.

Sincerely yours.

Amelinda V. de Lega Assistant Vice President: Relationship Manager Yuls S. Elizaga First Vice President Team Head

SECURITY BANK CORPORATION
Security Bank Centre, 6776 Ayala Avenue, Makati City, Philippines 0719.
Teli (+632) 888-78 • MCPO 2026 • www.securitybank.com

### INSTRUCTIONS TO PARTICIPATING BROKERS IN RESPECT OF THE OFFER OF PAXYS N.V. TO PURCHASE SHARES OF PAXYS. INC.

In connection with the tender offer by PAXYS N.V ("PNV") to acquire a maximum of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock representing forty five and 7/100 percent (45.07%) of the outstanding capital stock of PAXYS, Inc. ("PAX" or the "Company") held by minority shareholders following are the instructions for Participating Brokers whose clients are accepting the said offer:

- 1. The Terms and Conditions of the Tender Offer (ANNEX "B" of SEC Form 19-1 filed by the Company with the Securities and Exchange Commission) form part of these instructions.
- 2. Participating Brokers are required to electronically transfer the PAX shares being tendered by their clients to AB Capital Securities, Inc., (the "Tender Offer Agent"), Philippine Depository and Trust Corporation ("PDTC") Account No. 11200000000. The Tender Offer Agent will act as custodian for such shares.
- 3. For each Participating Broker transacting a transfer of the PAX shares to the Tender Offer Agent, the PDTC's charges for the share transfer and any subsequent withdrawal will be for the Participating Broker's account.
- 4. Only those shares electronically transferred to the Tender Offer Agent as of 12 noon, September 29, 2014 are eligible for the Tender Offer.

For orderly transfer and accurate tracking, the Participating Broker should fax, and then deliver in original, a letter to the Tender Offer Agent (substantially in the form attached hereto as ANNEX "H" of SEC form 19-1) citing the exact number of shares being transferred under the Tender Offer. Please fax the letter to the Tender Offer Agent to the attention of Rebecca M. Sacueza and Jessie Mae Esmani at fax no. +632 8987596. The Tender Offer Agent will fax the Participating Broker a confirmation of receipt of notice of the letter.

	2014

AB CAPITAL SECURITIES, INC.
Units 1401-1403, 14<sup>th</sup> Floor Tower One & Exchange Plaza Ayala Triangle, Makati City

Attention: <b>Mr. Lamberto M. Santos, Jr.</b> President	
Gentlemen:	
[Name of Participating Broker] is delivering () common clients who wish to participate in the tender offer conducted by Participate (attached as ANNEX "B" of SEC Form 19-1), which commit to sell the shares and authorize AB Capital Securities, In shares to the Buyer under the Terms and Conditions of the Tecustodianship by the Tender Offer Agent until such time that the effected by the Tender Offer Agent.	AX under the Terms and Conditions of the we have read and understood. Our clients ic. (the "Tender Offer Agent") to sell these ender Offer. These shares will be held in
	Very Truly Yours,
	[Name of Participating Broker]
	Ву:
Telepho	ccount No.: one No.:

# COPY OF FAIRNESS OPINION ISSUED BY MULTINATIONAL INVESTMENT BANCORPORATION

#### MULTINATIONAL INVESTMENT BANCORPORATION

22/F MULTINATIONAL BANCORFORATION CENTRE
6805 AYALA AVENUE
MAKATI CITY 1226 PHILIPPINES
TELEPHONES (632) 817-1511 TO 15
FACSINILE (632) 819-0347; 833-1869
E-MAIL milia milia milia milia
WEBSITE bitp://www.milb.com.ph

August 18, 2014

PAXYS, N.V. Kaya W.F.G. (Jombi) Mensing 36 Curacao Netherlands, Antilles

Attention:

Mr. Tarcisio M. Medalla Managing Director

We are pleased to submit our findings in connection with our appointment as independent Financial Advisor to Paxys N.V. ("PNV") for the purpose of providing a fairness opinion on PNV's planned tender offer for Paxys, Inc. ("PAX" or "the Company") shares at a price of Php 3.20 per share.

We considered four (4) approaches in the valuation of PAX's common shares. These were:

#### Relative Valuation Approach

The Company's assets consist of 89.71% of Cash and cash equivalents and another 4.04% are in Investments in available-for-sale financial assets. Since a significant part of the assets are placed in cash and available for sale financial assets rather than invested in operating companies, we deemed the Relative Valuation approach not to be applicable for our purpose as the operation of the Company is not comparable to that of other companies in the business process outsourcing industry.

#### Discounted Cash Flow (DCF) Approach

The DCF approach assumes the company being valued is a going-concern and that revenue and income from operations is significant. Since the Company's assets are primarily made up of Cash and Investments, it cannot generate significant revenue and income from operations. We therefore deemed this valuation method inappropriate for our objective.

#### Net Adjusted Value or Net Asset Value (NAV) Approach

To arrive at the Net Adjusted Value of the Company, we assumed that PNV would declare dividends to PAX to the extent of its undistributed retained earnings amounting to P2,996 million. The dividend payment would create a tax liability on PAX's side. The details are as follows:

#### Estimated incremental Tax Liability as of March 31, 2014

Paxys NV – Equity	3,419
Less: Cost of investment	422.7
Excess	2,996
Tax at 30%	898.9

After adding the P 898.9 million tax liability, the Net Adjusted Value decreased from P 4.546 billion to P 3.65 billion. On a per share basis that translated to a decrease from P3.96 per share to P3.18 per share.

#### Market Value Approach

Since Paxys, Inc. is publicly listed in the Philippine Stock Exchange, we obtained its trading data for 2014. Its volume weighted average price (VWAP) from January to August 15, 2014 was P2.56. The VWAP for August 2014 alone was also 2.74.

The stock also displayed an average daily trading volume of Php 849,203 from January to August 15, 2014.

Based on market value, we valued the Company at P2.56 per share.

			Y
	Total Value Traded	Average Daily Value	Volume-Weighted
Month	Total value Haged	Turnover	Average Price
January	20,281,850	965,802	2.40
February	13,623,370	717,019	2.49
March	10,475,390	498,828	2.53
April	16,501,880	868,520	2.69
May	13,349,860	635,708	2.51
June	6,909,790	345,490	2.41
July	7,435,000	371,750	2.35
August*	40,5 <u>01,</u> 770	3,681,979	2.74
2014 values	129,078,910	849,203	2.56

<sup>\*</sup> as of August 15, 2014

Presented below is a summary of the valuation results using the Market Value and NAV approaches. The range of values is from P2.56 to P3.18 per share, with an average value of P2.87 per share.

Method	Valuation
Market Value	2.56
Net Adjusted Value	3.18
Average	2.87

The range of values is lower compared to the intended tender offer price of P3.20 per share. The tender offer price pays a premium ranging from P0.02 to P0.64 per share or from 0.704% to 22.30% over the average value of the Company.

Given the foregoing findings, we find that the P3.20 per share offer price is fair to the Company's shareholders from a financial point of view.

It was a pleasure being of service to you and we assure you of our desire to be of service.

Very truly yours,

MULTINATIONAL INVESTMENT BANCORPORATION

Marilou C. Cristobal

Dindo Artonio T. Cagulat Vice President

President

#### COPY OF THE REPORT ON THE RESULTS OF THE TENDER OFFER

October 02, 2014

PAXYS N.V. Kaya W.F.G. (JOMBI) Mensing 36, Curacao

Attention:

Mr. Tarcisio M. Medalla

Director

Gentlemen:

At the close of the Tender Offer Period at 12:00 noon of September 29, 2014 for the tender offer for Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of Paxys, Inc. (PAX), a total of Three Hundred Forty Five Million Six Hundred Twenty Two Thousand Four Hundred Seventy Seven (345,622,477) shares were tendered.

Please find attached for your acceptance the list of shareholders and the shares they tendered. Should you have any questions or requirements pertaining to the results of the Tender Offer, please feel free to call us.

Very truly your

LAMBERTO M. SANTOS JR.

President

#### ACCEPTANCE AND CONFORME

PAXYS N.V. hereby accepts the Three Hundred Forty Five Million Six Hundred Twenty Two Thousand Four Hundred Seventy Seven (345,622,477) shares of PAX which were tendered in connection with the tender offer for the PAX shares held by the minority shareholders.

TARCISIO M. MEDALLA

Managing Director

ROGER LEO A. CARIÑO

Managing Director

Date: 3 UCTOBER 2014

Sales Report
PAXYS, INC. (PAX)
TENDER OFFER

Offer Period September 01 to September 29, 2014

Offer Price: Php 3.20

Payable Date: Starting October 13, 2014

Stockholder's Name (Certificated)	Tendered Shares	Price	Gross Amount
UYEHARA, EMMA L. OR UYEHARA, ROMEO L.	7,200	3.20	23,040.00
UYEHARA, ALFREDO L.	7,200		•
MOLANO, ROMEO B.	15,000		•
RODROGUEZ, GEOFFREY L.	1,800		·
FERRER, CARMILLE GRACE S.	1,000	3.20	3,200.00
CAMINA, RESTITUTO JR. C.	7,968	3.20	25,497.60
ROAQUIN, FERDINAND 5.	1,800	3.20	5,760.00
SUB TOTAL	41,968		134,297.60
BROKERS LODGED SHARES			
A&A SECURITIES	230,919	3.20	738,940.80
ABACUS SECURITIES, CORP.	5,075,690	3.20	16,242,208.00
AB CAPITAL SECURITIES, INC.	92,614,114	3.20	296,365,164.80
ACCORD CAPITAL	8,039,687	3.20	25,726,998.40
ALPHA SECURITIES, CORP.	30,000	3.20	96,000.00
ANGPING & ASSOCIATES SEC., INC.	280,006	3.20	896,019.20
ANSALDO GODINEZ	970,100	3.20	3,104,320.00
ARMSTRONG SECURITIES, INC.	1,923,360	3.20	6,154,752.00
ASIA PACIFIC CAPITAL	234,200	3.20	749,440.00
ASIASEC EQUITIES, INC.	166,680	3.20	533,376.00
ASTRA SECURITIES	221,000	3.20	707,200.00
AT DE CASTRO	1,106,026	3.20	3,539,283.20
ATC SECURITIES	1,305,412	3,20	4,177,318.40
AURORO SEC., INC.	140,000	3.20	448,000.00
B.H. CHUA	672,800	3.20	2,152,960.00
BDO SECURITIES CORP.	4,268,400	3.20	13,658,880.00
BELSON SECURITIES	558,551	3.20	1,787,363.20
BERNAD SECURITIES	3,533,000	3.20	11,305,600.00
BPI SECURITIES, INC.	1,911,315	3.20	6,116,208.00
CAMPOS, LANUZA & CO., INC.	224,460	3.20	718,272.00
CITISECURITIES, INC.	682,000	3.20	2,182,400.00
COL FINANCIAL	8,748,950	3.20	27,996,640.00
CUALOPING SEC	1,185,000	3.20	3,792,000.00
DAVID GO SEC	189,704	3.20	607,052.80
DBP-DAIWA	10,320	3.20	33,024.00
DEUTSCHE BANK	7,410,000	3.20	23,712,000.00



	400,000	3 20	4 524 000 00
DEUTSCHE REGIS	480,000	3.20	1,536,000.00
DIVERSIFIED SEC	2,736,800	3.20	8,757,760.00
DW CAPITAL INC.	194,000	3.20	620,800.00
E. CHUA CHIACO	2,429,792	3.20	7,775,334.40
EAGLE EQUITIES, INC.	1,033,225	3.20	3,306,320.00
EASTERN SECURITIES	529,800	3.20	1,695,360.00
EQUITIWORLD SECURITIES	833,600	3.20	2,667,520.00
EVERGREEN STOCK BROKERAGE	2,821,048	3.20	9,027,353.60
F.YAP SECURITIES, INC	528	3.20	1,689.60
FIDELITY SECURITIES	426,000	3.20	1,363,200.00
FIRST METRO SECURITIES	4,250,240	3.20	13,600,768.00
FIRST ORIENT SECURITIES	125,000	3.20	400,000.00
FRANCISCO ORTIGAS	9,000	3.20	28,800.00
G.D. TAN & CO.	304,640	3.20	974,848.00
GLOBALINKS SECURITIES	226,200	3.20	723,840.00
GOLDEN TOWER	181,560	3.20	580,992.00
GOLDSTAR.SEC	415,200	3.20	1,328,640.00
GUILD SECURITIES, INC.	7,464,800	3.20	23,887,360.00
H. E. BENNETT	30,200	3.20	96,640.00
HDI SEC	50,000	3.20	160,000.00
HSBC	. 250,000	3.20	800,000.00
I. ACKERMAN & CO.	82,488	3.20	263,961.60
IGC SEC	116,440	3.20	372,608.00
IMPERIAL, DE GUZMAN	90,024	3.20	288,076.80
INVESTORS	50,000	3.20	160,000.00
JGS SECURITIES, INC.	104,400	3.20	334,080.00
KINGS POWER SECURITIES, INC.	120,400	3.20	385,280.00
LOPEZ, LOCSIN LEDESMA & CO, INC.	3,600	3.20	11,520.00
LUCKY SECURITIES, INC.	2,593,000	3.20	8,297,600.00
LUYS SEC. CO	391,657	3.20	1,253,302.40
MANDARIN SEC., CORP.	426,438	3.20	1,364,601.60
MAYBANK ATR KIM ENG	162,400	3.20	519,680.00
MDR SEC	30,000	3.20	96,000.00
MERCANTILE SECURITIES	872,000	3.20	2,790,400.00
	200,100	3.20	640,320.00
MERIDIAN SECURITIES, INC.	104,040	3.20	332,928.00
NEW WORLD SECURITIES CO., INC.	434,000	3.20	1,388,800.00
NIEVES SECURITIES	583,980	3.20	1,868,736.00
OPTIMUM	•	3.20	299,520.00
PAN ASIA SECURITIES	93,600		
PAPA SECURITIES	4,185,426	3.20 ″ 3.20	13,393,363.20
PCCI SECURITIES	2,903,510	″ 3.20	9,291,232.00
PCIB SECURITIES, INC.	6,641,590	3.20	21,253,088.00
PNB SECURITIES, INC.	1,200	3.20	3,840.00
PREMIUM SECURITIES	1,360,000	3.20	4,352,000.00
QUALITY INVESTMENT	1,208,840	3.20	3,868,288.00
R. COYIUTO SEC	776,053	3.20	2,483,369.60
R. NUBLA SEC	2,582,880	3.20	8,265,216.00



R.S. LIM & CO. INC.	80,600	3.20	257,920.00
RCBC SEC	5,121,656	3.20	16,389,299.20
REGINA CAPITAL DEVT. CORP.	452,680	3.20	1,448,576.00
RTG & CO.	176,268	3.20	564,057.60
S.J. ROXAS & CO., INC.	26,213,510	3.20	83,883,232.00
SARANGANI SECURITIES	150,000	3.20	480,000.00
SB EQUITIES, INC.	47,262,341	3.20	151,239,491.20
SECURITIES SEPICALISTS	12,800	3.20	40,960.00
SINCERE SECURITIES	136,600	3.20	437,120.00
SOLAR SECURITIES, INC.	967,000	3.20	3,094,400.00
STANDARD. SECURITIES	1,262,000	3.20	4,038,400.00
STRATEGIC EQUITIES	5,731,600	3.20	18,341,120.00
SUMMIT SEC	6,318,840	3.20	20,220,288.00
TANSENGCO SECURITIES, INC.	98,374	3.20	314,796.80
THE FIRST RESOURCES	212,460	3.20	679,872.00
TOWER SECURITIES, INC.	4,751,222	3.20	15,203,910.40
TRI-STATE	48,000	3.20	153,600.00
TRITON SECURITIES	2,569,860	3.20	8,223,552.00
UCPB SEC	294,600	3.20	942,720.00
UNICAPITAL	2,855,300	3.20	9,136,960.00
UNITED COCONUT	650,000	3.20	2,080,000.00
VENTURE SEC	1,125,844	3.20	3,602,700.80
VICSAL SEC	154,200	3.20	493,440.00
WEALTH SECURITIES, INC.	45,179,161	3.20	144,573,315.20
WESTLINK GLOBAL	780,800	3.20	2,498,560.00
YAO & ZIALCITA	321,400	3.20	1,028,480.00
YU & COMPANY	12,000	3.20	38,400.00
SUBTOTAL	345,580,509		1,105,857,628.80
GRAND TOTAL	345,622,477		1,105,991,926.40



### AFFIDAVIT OF PUBLICATION OF THE PHILIPPINE STAR DATED 4 SEPTEMBER 2014

#### AFFIDAVIT OF PUBLICATION

I, **PERLITA R. DE LARA**, of legal age, married, Filipino and with office address at c/o **PhilSTAR Daily, Inc.**, 202 Railroad Street corner Roberto S. Oca Street, Port Area, Manila, after being duly sworn to in accordance with law, depose and state:

That I am the **ACCOUNTING SUPERVISOR** of the **PhilSTAR Daily, Inc.** a domestic corporation duly organized and existing under by virtue of Philippine laws with office and business address at 202 Railroad Street corner Roberto S. Oca Street, Port Area, Manila.

That the said corporation publishes **THE PHILIPPINE STAR**, a daily broadsheet newspaper published in English and of general circulation.

,	That the order of PAXYS INC.,
	captioned as follows:  NOTICE TO STOCKHOLDERS OF TENDER OFFER FOR COMMON SHARES OF STOCKS OF PAXYS INC.  (Please see attached printed text) had been published In <b>The Philippine STAR</b> in its issues of:  SEPTEMBER 1, 2, & 3, 2014
FURTHER AFFIANT SAYETH NAUGHT. Manila, Philippines	PERLITA R. DE LARA Affiant
SUBSCRIBED AND SWORN to before in affiant exhibited to me her Community on January 02, 2014	me this <u>4Hh</u> day of <u>September</u> 201 <u>4</u> Tax Certificate No. 34270204 issued at Manila
Doc. No. <u> </u>	ATTY, AGUSTAN B. CABREINO Notary Public for Manila Notarial Commission No. 2013-109 Until December 31, 2014 Rm. 409. First United Bldg. Co Escolta Manila Roll No. 26047 PTR No. 2450249 / 1-2-14 / Manila IBI- Lite. Meinber 05097 MCLE No. IV 0000822

MONDAY, SEPTEMBER 1, 2014

B-2

# NOTICE TO STOCKHOLDERS OF TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

TO ALL STOCKHOLDERS OF PAXYS, INC.:

Please take notice that on 20 August 2014, Paxys N.V. (the "Buyer") filed a Tender Offer Report or Securities and Exchange Commission ("SEC") Form 19-1 (the "Report") with the SEC and the Philippine Stock Exchange, Inc. (the "PSE") pursuant to Section 19 of the Securities Regulation Code, as amended, for the acquisition of up to a maximum of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock (the "Tender Shares") representing forty five and 7/100 percent (45.07%) of the outstanding capital stock of PAXYS, INC. ("Paxys" or the "Company"), at an Offer Price of PhP3.20 per share (the "Tender Offer").

This offer is in line with the objectives of Paxys to provide its minority shareholders with the opportunity to monetize their investments and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because the Company has been looking at various alternatives for about two years now to redeploy the cash reserves of the Paxys Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified. As of the date of the Report, the consolidated assets of the Company consist mostly of cash and these funds are placed in short-term money market investments.

The Tender Offer shall commence at 9:00 a.m. on 1 September 2014 and end at 12:00 p.m. on 29 September 2014 (the "Tender Offer Period"). The Tender Offer Period may be extended by the Buyer, subject to the prior approval of the SEC. Should any of the business days during the Tender Offer Period be officially declared a non-working holiday, the Tender Offer Period shall be extended by the number of business days corresponding to those days which are declared non-working holidays.

The Buyer's principal bank, Security Bank Corp., confirms that the Buyer has available resources for the full implementation of the Tender Offer. Tender Shares validly tendered to, and duly accepted for payment by, the Buyer are intended to be crossed at the PSE on the date no later than 8 October 2014 (the "Cross Date"). The Settlement Date shall be on the date no later than 13 October 2014. Check payments for Tender Shares duly accepted for payment shall be made available for pick-up by the tendering stockholder (the "Tender Seller") or its duly authorized representative, from AB Capital Securities, Inc. (the "Tender Offer Agent") at its offices between 9:00 a.m. and 3:00 p.m. on Settlement Date. When collecting payment, the Tender Seller shall be required to present the Application to Tender Shares (ANNEX "E" of the Report) (the "Application to Tender Shares") duly confirmed and accepted by the Buyer together with the proper identification documents. A duly authorized representative shall be required to present valid identification and an authorization letter from the Tender Seller.

Stockholders who wish to offer all or a portion of their Tender Shares should secure from, and submit a duly accomplished Application to Tender Shares to, the Tender Offer Agent at its offices located at Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle, Makati City, together with the documentary requirements.

Tender Shares being tendered for sale must be received by the Tender Offer Agent in scripless form not later than 12:00 p.m. of 29 September 2014. To ensure prompt receipt by the Tender Offer Agent;

- (i) Tendering "scrip" stockholders (i.e. stockholders holding share certificates) must submit the: (A) duly accomplished Application to Tender Shares; and (B) Company stock certificates duly endorsed; to be verified by RCBC Stock Transfer Section, the stock transfer agent of Paxys, as valid and authentic certificates.
  - Such shareholder must also open a brokerage account with AB Capital Securities, Inc. in order for such tendered shares to be validated, accepted and purchased by way of a cross sale on the PSE on Settlement Date. Those stockholders whose stock certificate/s is/are lost should submit: (A) one (1) original of a duly notarized affidavit of loss; (B) a copy of the affidavit of loss as published in a newspaper of general circulation; (C) an affidavit of publication (of the affidavit of loss); and (D) bond.
- (ii) Tendering "scripless" stockholders (i.e. stockholders whose common shares are held by brokers under their respective Philippine Depository and Trust Corporation ("PDTC") accounts) who wish to accept the tender offer, must instruct their brokers or custodian (the "PSE Broker") to electronically transfer their common shares to the Tender Offer Agent.
  - The PSE Brokers holding common shares of the Company, should, upon receipt or knowledge of this Notice to Stockholders of the Tender Offer for Common Shares of Stock of Paxys, Inc., immediately notify the relevant stockholder. Should the stockholder wish to sell its/his/her common shares in Paxys to the Buyer, the stockholder must instruct the PSE Broker to electronically transfer its/his/her common shares to the Tender Offer Agent, as custodian for such shares, on or before 12:00 p.m. on 29 September 2014 and instruct such broker or custodian to complete, execute, and return to the Tender Offer Agent prior to 12:00 p.m. on 29 September 2014 the Application to Tender Shares in accordance with the instructions in the aforementioned Application to Tender Shares.

When tendering shares, the PSE Brokers are required to submit a letter to the Tender Offer Agent (in the form attached as ANNEX "H" of the Report) on or before 12:00 p.m. on 29 September 2014, as well as the duly completed Application to Tender Shares and other documentary requirements.

The Tender Sellers shall have the right to withdraw the Tender Shares at any time during the Tender Offer Period, by filing a written notice of withdrawal with the Tender Offer Agent before 12:00 p.m. of 29 September 2014.

Stockholders are advised to read the Application to Tender Shares, the Terms of the Tender Offer and the Report, copies of which may be obtained from the Tender Offer Agent, at the following contact details:

AB CAPITAL SECURITIES, INC. Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle Ayala Avenue, Makati City

Attention: Rebecca M. Sacueza (+632) 898-7617 Jessie Mae Esmani (+632) 898-7520 THE PHILIPPINE STAR

# BUSINESS

e-mail: business@philstar.net.ph business19862000@yahoo.com

Editor: ROMAN F. FLORESCA Assistant Editor: MARIANNE V. GO

Tuesday, September 2, 2014 B-1

# NOTICE TO STOCKHOLDERS OF TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

TO ALL STOCKHOLDERS OF PAXYS, INC.:

Please take notice that on 20 August 2014, Paxys N.V. (the "Buyer") filed a Tender Offer Report or Securities and Exchange Commission ("SEC") Form 19-1 (the "Report") with the SEC and the Philippine Stock Exchange, Inc. (the "PSE") pursuant to Section 19 of the Securities Regulation Code, as amended, for the acquisition of up to a maximum of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock (the "Tender Shares") representing forty five and 7/100 percent (45.07%) of the outstanding capital stock of PAXYS, INC. ("Paxys" or the "Company"), at an Offer Price of PhP3.20 per share (the "Tender Offer").

This offer is in line with the objectives of Paxys to provide its minority shareholders with the opportunity to monetize their investments and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because the Company has been looking at various alternatives for about two years now to redeploy the cash reserves of the Paxys Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified. As of the date of the Report, the consolidated assets of the Company consist mostly of cash and these funds are placed in short-term money market investments.

The Tender Offer shall commence at 9:00 a.m. on 1 September 2014 and end at 12:00 p.m. on 29 September 2014 (the "Tender Offer Period"). The Tender Offer Period may be extended by the Buyer, subject to the prior approval of the SEC. Should any of the business days during the Tender Offer Period be officially declared a non-working holiday, the Tender Offer Period shall be extended by the number of business days corresponding to those days which are declared non-working holidays.

The Buyer's principal bank, Security Bank Corp., confirms that the Buyer has available resources for the full implementation of the Tender Offer. Tender Shares validly tendered to, and duly accepted for payment by, the Buyer are intended to be crossed at the PSE on the date no later than 8 October 2014 (the "Cross Date"). The Settlement Date shall be on the date no later than 13 October 2014. Check payments for Tender Shares duly accepted for payment shall be made available for pick-up by the tendering stockholder (the "Tender Seller") or its duly authorized representative, from AB Capital Securities, 'Inc. (the "Tender Offer Agent") at its offices between 9:00 a.m. and 3:00 p.m. on Settlement Date. When collecting payment, the Tender Seller shall be required to present the Application to Tender Shares (ANNEX "E" of the Report) (the "Application to Tender Shares") duly confirmed and accepted by the Buyer together with the proper identification documents. A duly authorized representative shall be required to present valid identification and an authorization letter from the Tender Seller.

Stockholders who wish to offer all or a portion of their Tender Shares should secure from, and submit a duly accomplished Application to Tender Shares to, the Tender Offer Agent at its offices located at Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle, Makati City, together with the documentary requirements.

Tender Shares being tendered for sale must be received by the Tender Offer Agent in scripless form not later than 12:00 p.m. of 29 September 2014. To ensure prompt receipt by the Tender Offer Agent:

- (i) Tendering "scrip" stockholders (i.e. stockholders holding share certificates) must submit the: (A) duly accomplished Application to Tender Shares; and (B) Company stock certificates duly endorsed; to be verified by RCBC - Stock Transfer Section, the stock transfer agent of Paxys, as valid and authentic certificates.
  - Such shareholder must also open a brokerage account with AB Capital Securities, Inc. in order for such tendered shares to be validated, accepted and purchased by way of a cross sale on the PSE on Settlement Date. Those stockholders whose stock certificate/s is/are lost should submit: (A) one (1) original of a duly notarized affidavit of loss; (B) a copy of the affidavit of loss as published in a newspaper of general circulation; (C) an affidavit of publication (of the affidavit of loss); and (D) bond.
- (ii) Tendering "scripless" stockholders (i.e. stockholders whose common shares are held by brokers under their respective Philippine Depository and Trust Corporation ("PDTC") accounts) who wish to accept the tender offer, must instruct their brokers or custodian (the "PSE Broker") to electronically transfer their common shares to the Tender Offer Agent.
  - The PSE Brokers holding common shares of the Company, should, upon receipt or knowledge of this Notice to Stockholders of the Tender Offer for Common Shares of Stock of Paxys, Inc., immediately notify the relevant stockholder. Should the stockholder wish to sell its/his/her common shares in Paxys to the Buyer, the stockholder must instruct the PSE Broker to electronically transfer its/his/her common shares to the Tender Offer Agent, as custodian for such shares, on or before 12:00 p.m. on 29 September 2014 and instruct such broker or custodian to complete, execute, and return to the Tender Offer Agent prior to 12:00 p.m. on 29 September 2014 the Application to Tender Shares in accordance with the instructions in the aforementioned Application to Tender Shares.

When tendering shares, the PSE Brokers are required to submit a letter to the Tender Offer Agent (in the form attached as ANNEX "H" of the Report) on or before 12:00 p.m. on 29 September 2014, as well as the duly completed Application to Tender Shares and other documentary requirements.

The Tender Sellers shall have the right to withdraw the Tender Shares at any time during the Tender Offer Period, by filing a written notice of withdrawal with the Tender Offer Agent before 12:00 p.m. of 29 September 2014.

Stockholders are advised to read the Application to Tender Shares, the Terms of the Tender Offer and the Report, copies of which may be obtained from the Tender Offer Agent, at the following contact details:

AB CAPITAL SECURITIES, INC. Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle Ayala Avenue, Makati City

Attention: Rebecca M. Sacueza (+632) 898-7617 Jessie Mae Esmani (+632) 898-7520 WEDNESDAY, SEPTEMBER 3, 2014

# NOTICE TO STOCKHOLDERS OF TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

TO ALL STOCKHOLDERS OF PAXYS, INC.:

Please take notice that on 20 August 2014. Paxys N.V. (the "Buyer") filed a Tender Offer Report or Securities and Exchange Commission ("SEC") Form 19-1 (the "Report") with the SEC and the Philippine Stock Exchange, Inc. (the "PSE") pursuant to Section 19 of the Securities Regulation Code, as amended, for the acquisition of up to a maximum of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock (the "Tender Shares") representing forty five and 7/100 percent (45.07%) of the outstanding capital stock of PAXYS, INC. ("Paxys" or the "Company"), at an Offer Price of PhP3.20 per share (the "Tender Offer").

This offer is in line with the objectives of Paxys to provide its minority shareholders with the opportunity to monetize their investments and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because the Company has been looking at various alternatives for about two years now to redeploy the cash reserves of the Paxys Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified. As of the date of the Report, the consolidated assets of the Company consist mostly of cash and these funds are placed in short-term money market investments.

The Tender Offer shall commence at 9:00 a.m. on 1 September 2014 and end at 12:00 p.m. on 29 September 2014 (the "Tender Offer Period"). The Tender Offer Period may be extended by the Buyer, subject to the prior approval of the SEC. Should any of the business days during the Tender Offer Period be officially declared a non-working holiday, the Tender Offer Period shall be extended by the number of business days corresponding to those days which are declared non-working holidays.

The Buyer's principal bank, Security Bank Corp., confirms that the Buyer has available resources for the full implementation of the Tender Offer. Tender Shares validly tendered to, and duly accepted for payment by, the Buyer are intended to be crossed at the PSE on the date no later than 8 October 2014 (the "Cross Date"). The Settlement Date shall be on the date no later than 13 October 2014. Check payments for Tender Shares duly accepted for payment shall be made available for pick-up by the tendering stockholder (the "Tender Seller") or its duly authorized representative, from AB Capital Securities, Inc. (the "Tender Offer Agent") at its offices between 9:00 a.m. and 3:00 p.m. on Settlement Date. When collecting payment, the Tender Seller shall be required to present the Application to Tender Shares (ANNEX "E" of the Report) (the "Application to Tender Shares") duly confirmed and accepted by the Buyer together with the proper identification documents. A duly authorized representative shall be required to present valid identification and an authorization letter from the Tender Seller.

Stockholders who wish to offer all or a portion of their Tender Shares should secure from, and submit a duly accomplished Application to Tender Shares to, the Tender Offer Agent at its offices located at Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle, Makati City, together with the documentary requirements.

Tender Shares being tendered for sale must be received by the Tender Offer Agent in scripless form not later than 12:00 p.m. of 29 September 2014. To ensure prompt receipt by the Tender Offer Agent:

- (i) Tendering "scrip" stockholders (i.e. stockholders holding share certificates) must submit the: (A) duly accomplished Application to Tender Shares; and (B) Company stock certificates duly endorsed; to be verified by RCBC Stock Transfer Section, the stock transfer agent of Paxys, as valid and authentic certificates.
  - Such shareholder must also open a brokerage account with AB Capital Securities, Inc. in order for such tendered shares to be validated, accepted and purchased by way of a cross sale on the PSE on Settlement Date. Those stockholders whose stock certificate/s is/are lost should submit: (A) one (1) original of a duly notarized affidavit of loss; (B) a copy of the affidavit of loss as published in a newspaper of general circulation; (C) an affidavit of publication (of the affidavit of loss); and (D) bond.
- (ii) Tendering "scripless" stockholders (i.e. stockholders whose common shares are held by brokers under their respective Philippine Depository and Trust Corporation ("PDTC") accounts) who wish to accept the tender offer, must instruct their brokers or custodian (the "PSE Broker") to electronically transfer their common shares to the Tender Offer Agent.
  - The PSE Brokers holding common shares of the Company, should, upon receipt or knowledge of this Notice to Stockholders of the Tender Offer for Common Shares of Stock of Paxys, Inc., Immediately notify the relevant stockholder. Should the stockholder wish to sell its/his/her common shares in Paxys to the Buyer, the stockholder must instruct the PSE Broker to electronically transfer its/his/her common shares to the Tender Offer Agent, as custodian for such shares, on or before 12:00 p.m. on 29 September 2014 and instruct such broker or custodian to complete, execute, and return to the Tender Offer Agent prior to 12:00 p.m. on 29 September 2014 the Application to Tender Shares in accordance with the instructions in the aforementioned Application to Tender Shares.

When tendering shares, the PSE Brokers are required to submit a letter to the Tender Offer Agent (In the form attached as ANNEX "H" of the Report) on or before 12:00 p.m. on 29 September 2014, as well as the duly completed Application to Tender Shares and other documentary requirements.

The Tender Sellers shall have the right to withdraw the Tender Shares at any time during the Tender Offer Period, by filling a written notice of withdrawal with the Tender Offer Agent before 12:00 p.m. of 29 September 2014.

Stockholders are advised to read the Application to Tender Shares, the Terms of the Tender Offer and the Report, copies of which may be obtained from the Tender Offer Agent, at the following contact details:

AB CAPITAL SECURITIES, INC. Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle Ayala Avenue, Makati City

Attention: Rebecca M. Sacueza (+632) 898-7617 Jessie Mae Esmani (+632) 898-7520

#### AFFIDAVIT OF PUBLICATION OF THE PHILIPPINE DAILY INQUIRER DATED 4 SEPTEMBER 2014

### REPUBLIC OF THE PHILIPPINES) CITY OF MAKATI) S.S.

#### **AFFIDAVIT OF PUBLICATION**

- I, JESSE FRANCIS N. REBUSTILLO, of legal age, Filipino, single and a resident of Parañaque City, Philippines after having duly sworn to in accordance with law, hereby declare and testify.
- 1.That I am the Classified Ads AVP of the PHILIPPINE DAILY INQUIRER, INC., publisher of the Philippine Daily Inquirer which is being published daily in English, of general circulation with editorial and business address at Chino Roces St. cor. Yague and Mascardo Sts., Makati.

2. That at the order of <u>legal notice</u>				
Re: NOTICE TO STOCKHOLDERS OF				
TENDER OFFER FOR COMMON SHARES				
OF STOCK OF PAXYS, INC.				
Text of which would be described as				
follows:				
ioliows.				
AS PER ATTACHED				
has been published in the Philippine Daily				
Inquirer in its issue/issues of:				
Sept. 1, 2, & 3, 2014				
Affiant Further Sayet SEP 0 4 2010				
Naught, Makati Philippines				
$\sim R$				
JESSE FRANÇIŞ N. REBUSTILLO				
Affiant				

SUBSCRIBED AND SWORN to before methis \_\_\_\_\_\_ day of \_\_\_\_\_\_ 4 20% PHILIPPINES, affiant exhibited to mehis/her LICENSE NO. No. No. 2011 and his SSS ID. No. 03-5621466-3, bearing his photograph and signature.

Doc. No. \_ Page No.

Book No.

Series of

ATTY. AMADOR C. CASINO

NOTARY PUBLIC UNTIL DEC. 31, 2014

PTR NO. 4229453/01-06-14/MAKATI IBP NO. 928562 / 01-08-14/MANILA ROLL NO. 13361



MONDAY SEPTEMBER 1-2014

## NOTICE TO STOCKHOLDERS OF TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

TO ALL STOCKHOLDERS OF PAXYS, INC.:

Please take notice that on 20 August 2014, Paxys N.V. (the "Buyer") filed a Tender Offer Report or Securities and Exchange Commission ("SEC") Form 19-1 (the "Report") with the SEC and the Philippine Stock Exchange, Inc. (the "PSE") pursuant to Section 19 of the Securities Regulation Code, as amended, for the acquisition of up to a maximum of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock (the "Tender Shares") representing forty five and 7/100 percent (45.07%) of the outstanding capital stock of PAXYS, INC. ("Paxys" or the "Company"), at an Offer Price of PhP3.20 per share (the "Tender Offer").

This offer is in line with the objectives of Paxys to provide its minority shareholders with the opportunity to monetize their investments and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because the Company has been looking at various alternatives for about two years now to redeploy the cash reserves of the Paxys Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified. As of the date of the Report, the consolidated assets of the Company consist mostly of cash and these funds are placed in short-term money market investments.

The Tender Offer shall commence at 9:00 a.m. on 1 September 2014 and end at 12:00 p.m. on 29 September 2014 (the "Tender Offer Period"). The Tender Offer Period may be extended by the Buyer, subject to the prior approval of the SEC. Should any of the business days during the Tender Offer Period be officially declared a non-working holiday, the Tender Offer Period shall be extended by the number of business days corresponding to those days which are declared non-working holidays.

The Buyer's principal bank, Security Bank Corp., confirms that the Buyer has available resources for the full implementation of the Tender Offer. Tender Shares validly tendered to, and duly accepted for payment by, the Buyer are intended to be crossed at the PSE on the date no later than 8 October 2014 (the "Cross Date"). The Settlement Date shall be on the date no later than 13 October 2014. Check payments for Tender Shares duly accepted for payment shall be made available for pick-up by the tendering stockholder (the "Tender Seller") or its duly authorized representative, from AB Capital Securities, Inc. (the "Tender Offer Agent") at its offices between 9:00 a.m. and 3:00 p.m. on Settlement Date. When collecting payment, the Tender Seller shall be required to present the Application to Tender Shares (ANNEX "E" of the Report) (the "Application to Tender Shares") duly confirmed and accepted by the Buyer together with the proper identification documents. A duly authorized representative shall be required to present valid identification and an authorization letter from the Tender Seller.

Stockholders who wish to offer all or a portion of their Tender Shares should secure from, and submit a duly accomplished Application to Tender Shares to, the Tender Offer Agent at its offices located at Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle, Makati City, together with the documentary requirements.

Tender Shares being tendered for sale must be received by the Tender Offer Agent in scripless form not later than 12:00 p.m. of 29 September 2014. To ensure prompt receipt by the Tender Offer Agent:

- (i) Tendering "scrip" stockholders (i.e. stockholders holding share certificates) must submit the: (A) duly accomplished Application to Tender Shares; and (B) Company stock certificates duly endorsed; to be verified by RCBC Stock Transfer Section, the stock transfer agent of Paxys, as valid and authentic certificates.
  - Such shareholder must also open a brokerage account with AB Capital Securities, Inc. in order for such tendered shares to be validated, accepted and purchased by way of a cross sale on the PSE on Settlement Date. Those stockholders whose stock certificate/s is/are lost should submit. (A) one (1) original of a duly notarized affidavit of loss; (B) a copy of the affidavit of loss as published in a newspaper of general circulation; (C) an affidavit of publication (of the affidavit of loss); and (D) bond.
- (ii) Tendering "scripless" stockholders (i.e. stockholders whose common shares are held by brokers under their respective Philippine Depository and Trust Corporation ("PDTC") accounts) who wish to accept the tender offer, must instruct their brokers or custodian (the "PSE Broker") to electronically transfer their common shares to the Tender Offer Agent.

The PSE Brokers holding common shares of the Company, should, upon receipt or knowledge of this Notice to Stockholders of the Tender Offer for Common Shares of Stock of Paxys, Inc., immediately notify the relevant stockholder. Should the stockholder wish to sell its/his/her common shares in Paxys to the Buyer, the stockholder must instruct the PSE Broker to electronically transfer its/his/her common shares to the Tender Offer Agent, as custodian for such shares, on or before 12:00 p.m. on 29 September 2014 and instruct such broker or custodian to complete, execute, and return to the Tender Offer Agent prior to 12:00 p.m. on 29 September 2014 the Application to Tender Shares in accordance with the instructions in the aforementioned Application to Tender Shares.

When tendering shares, the PSE Brokers are required to submit a letter to the Tender Offer Agent (in the form attached as ANNEX "H" of the Report) on or before 12:00 p.m. on 29 September 2014, as well as the duly completed Application to Tender Shares and other documentary requirements.

The Tender Sellers shall have the right to withdraw the Tender Shares at anytime during the Tender Offer Period, by filing a written notice of withdrawal with the Tender Offer Agent before 12:00 p.m. of 29 September 2014.

Stockholders are advised to read the Application to Tender Shares, the Terms of the Tender Offer and the Report, copies of which may be obtained from the Tender Offer Agent, at the following contact details:

AB CÁPITAL SECURITIES, INC. Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle Ayala Avenue, Makati City

Attention: Rebecca M. Sacueza(+632) 898-7617 Jessie Mae Esmani(+632) 898-7520

(PDI--Sept. 1, 2 & 3, 2014)

TUESDAY, SEPTEMBER 2, 2014

**B** 3

### NOTICE TO STOCKHOLDERS OF TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

TO ALL STOCKHOLDERS OF PAXYS, INC.:

Please take notice that on 20 August 2014, Paxys N.V. (the "Buyer") filed a Tender Offer Report or Securities and Exchange Commission ("SEC") Form 19-1 (the "Report") with the SEC and the Philippine Stock Exchange, Inc. (the "PSE") pursuant to Section 19 of the Securities Regulation Code, as amended, for the acquisition of up to a maximum of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock (the "Tender Shares") representing forty five and 7/100 percent (45.07%) of the outstanding capital stock of PAXYS, INC. ("Paxys" or the "Company"), at an Offer Price of PhP3.20 per share (the "Tender Offer").

This offer is in line with the objectives of Paxys to provide its minority shareholders with the opportunity to monetize their investments and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because the Company has been looking at various alternatives for about two years now to redeploy the cash reserves of the Paxys Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified. As of the date of the Report, the consolidated assets of the Company consist mostly of cash and these funds are placed in short-term money market investments.

The Tender Offer shall commence at 9:00 a.m. on 1 September 2014 and end at 12:00 p.m. on 29 September 2014 (the "Tender Offer Period"). The Tender Offer Period may be extended by the Buyer, subject to the prior approval of the SEC. Should any of the business days during the Tender Offer Period be officially declared a non-working holiday, the Tender Offer Period shall be extended by the number of business days corresponding to those days which are declared non-working holidays.

The Buyer's principal bank, Security Bank Corp., confirms that the Buyer has available resources for the full implementation of the Tender Offer. Tender Shares validly tendered to, and duly accepted for payment by, the Buyer are intended to be crossed at the PSE on the date no later than 8 October 2014 (the "Cross Date"). The Settlement Date shall be on the date no later than 13 October 2014. Check payments for Tender Shares duly accepted for payment shall be made available for pick-up by the tendering stockholder (the "Tender Seller") or its duly authorized representative, from AB Capital Securities, Inc. (the "Tender Offer Agent") at its offices between 9:00 a.m. and 3:00 p.m. on Settlement Date. When collecting payment, the Tender Seller shall be required to present the Application to Tender Shares (ANNEX "E" of the Report) (the "Application to Tender Shares") duly confirmed and accepted by the Buyer together with the proper identification documents. A duly authorized representative shall be required to present valid identification and an authorization letter from the Tender Seller.

Stockholders who wish to offer all or a portion of their Tender Shares should secure from, and submit a duly accomplished Application to Tender Shares to, the Tender Offer Agent at its offices located at Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle, Makati City, together with the documentary requirements.

Tender Shares being tendered for sale must be received by the Tender Offer Agent in scripless form not later than 12:00 p.m. of 29 September 2014. To ensure prompt receipt by the Tender Offer Agent:

- (i) Tendering "scrip" stockholders (i.e. stockholders holding share certificates) must submit the: (A) duly accomplished Application to Tender Shares; and (B) Company stock certificates duly endorsed; to be verified by RCBC Stock Transfer Section, the stock transfer agent of Paxys, as valid and authentic certificates.
  - Such shareholder must also open a brokerage account with AB Capital Securities, Inc. In order for such tendered shares to be validated, accepted and purchased by way of a cross sale on the PSE on Settlement Date. Those stockholders whose stock certificate/s is/are lost should submit: (A) one (1) original of a duly notarized affidavit of loss; (B) a copy of the affidavit of loss as published in a newspaper of general circulation; (C) an affidavit of publication (of the affidavit of loss); and (D) bond.
- (ii) Tendering "scripless" stockholders (i.e. stockholders whose common shares are held by brokers under their respective Philippine Depository and Trust Corporation ("PDTC") accounts) who wish to accept the tender offer, must instruct their brokers or custodian (the "PSE Broker") to electronically transfer their common shares to the Tender Offer Agent.

The PSE Brokers holding common shares of the Company, should, upon receipt or knowledge of this Notice to Stockholders of the Tender Offer for Common Shares of Stock of Paxys, Inc., immediately notify the relevant stockholder. Should the stockholder wish to sell its/his/her common shares in Paxys to the Buyer, the stockholder must instruct the PSE Broker to electronically transfer its/his/her common shares to the Tender Offer Agent, as custodian for such shares, on or before 12:00 p.m. on 29 September 2014 and instruct such broker or custodian to complete, execute, and return to the Tender Offer Agent prior to 12:00 p.m. on 29 September 2014 the Application to Tender Shares in accordance with the instructions in the aforementioned Application to Tender Shares.

When tendering shares, the PSE Brokers are required to submit a letter to the Tender Offer Agent (in the form attached as ANNEX "H" of the Report) on or before 12:00 p.m. on 29 September 2014, as well as the duly completed Application to Tender Shares and other documentary requirements.

The Tender Sellers shall have the right to withdraw the Tender Shares at anytime during the Tender Offer Period, by filing a written notice of withdrawal with the Tender Offer Agent before 12:00 p.m. of 29 September 2014.

Stockholders are advised to read the Application to Tender Shares, the Terms of the Tender Offer and the Report, copies of which may be obtained from the Tender Offer Agent, at the following contact details:

AB CAPITAL SECURITIES, INC. Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle Ayala Avenue, Makati City

Attention: Rebecca M. Sacueza(+632) 898-7617 Jessie Mae Esmani(+632) 898-7520

(PDI--Sept. 1, 2 & 3, 2014)



WEDNESDAY, SEPTEMBER 3, 2014

# NOTICE TO STOCKHOLDERS OF TENDER OFFER FOR COMMON SHARES OF STOCK OF PAXYS, INC.

#### TO ALL STOCKHOLDERS OF PAXYS, INC.:

Please take notice that on 20 August 2014, Paxys N.V. (the "Buyer") filed a Tender Offer Report or Securities and Exchange Commission ("SEC") Form 19-1 (the "Report") with the SEC and the Philippine Stock Exchange, Inc. (the "PSE") pursuant to Section 19 of the Securities Regulation Code, as amended, for the acquisition of up to a maximum of Five Hundred Seventeen Million Six Hundred Ninety Thousand Eight Hundred Twenty Eight (517,690,828) common shares of stock (the "Tender Shares") representing forty five and 7/100 percent (45.07%) of the outstanding capital stock of PAXYS, INC. ("Paxys" or the "Company"), at an Offer Price of PhP3.20 per share (the "Tender Offer").

This offer is in line with the objectives of Paxys to provide its minority shareholders with the opportunity to monetize their investments and divest of their shareholdings in the Company. Minority shareholders should be given this option mainly because the Company has been looking at various alternatives for about two years now to redeploy the cash reserves of the Paxys Group (which are substantially held by the Buyer), and as of date, there are still no definite or attractive opportunities that have been identified. As of the date of the Report, the consolidated assets of the Company consist mostly of cash and these funds are placed in short-term money market investments.

The Tender Offer shall commence at 9:00 a.m. on 1 September 2014 and end at 12:00 p.m. on 29 September 2014 (the "Tender Offer Period"). The Tender Offer Period may be extended by the Buyer, subject to the prior approval of the SEC. Should any of the business days during the Tender Offer Period be officially declared a non-working holiday, the Tender Offer Period shall be extended by the number of business days corresponding to those days which are declared non-working holidays.

The Buyer's principal bank, Security Bank Corp., confirms that the Buyer has available resources for the full implementation of the Tender Offer. Tender Shares validly tendered to, and duly accepted for payment by, the Buyer are intended to be crossed at the PSE on the date no later than 8 October 2014 (the "Cross Date"). The Settlement Date shall be on the date no later than 13 October 2014. Check payments for Tender Shares duly accepted for payment shall be made available for pick-up by the tendering stockholder (the "Tender Seller") or its duly authorized representative, from AB Capital Securities, Inc. (the "Tender Offer Agent") at its offices between 9:00 a.m. and 3:00 p.m. on Settlement Date. When collecting payment, the Tender Seller shall be required to present the Application to Tender Shares (ANNEX "E" of the Report) (the "Application to Tender Shares") duly confirmed and accepted by the Buyer together with the proper Identification documents. A duly authorized representative shall be required to present valid identification and an authorization letter from the Tender Seller.

\*\*Stockholders who wish to offer all or a portion of their Tender Shares should secure from, and submit a duly accomplished Application to Tender Shares to, the Tender Offer Agent at its offices located at Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle, Makati City, together with the documentary requirements.

Tender Shares being tendered for sale must be received by the Tender Offer Agent in scripless form not later than 12:00 p.m. of 29 September 2014. To ensure prompt receipt by the Tender Offer Agent:

- (i) Tendering "scrip" stockholders (i.e. stockholders holding share certificates) must submit the: (A) duly accomplished Application to Tender Shares; and (B) Company stock certificates duly endorsed; to be verified by RCBC Stock Transfer Section, the stock transfer agent of Paxys, as valid and authentic certificates.
  - Such shareholder must also open a brokerage account with AB Capital Securities, Inc. in order for such tendered shares to be validated, accepted and purchased by way of a cross sale on the PSE on Settlement Date. Those stockholders whose stock certificate/s is/are lost should submit: (A) one (1) original of a duly notarized affidavit of loss; (B) a copy of the affidavit of loss as published in a newspaper of general circulation; (C) an affidavit of publication (of the affidavit of loss); and (D) bond.
- (ii) Tendering "scripless" stockholders (i.e. stockholders whose common shares are held by brokers under their respective Philippine Depository and Trust Corporation ("PDTC") accounts) who wish to accept the tender offer, must instruct their brokers or custodian (the "PSE Broker") to electronically transfer their common shares to the Tender Offer Agent.

The PSE Brokers holding common shares of the Company, should, upon receipt or knowledge of this Notice to Stockholders of the Tender Offer for Common Shares of Stock of Paxys, Inc., immediately notify the relevant stockholder. Should the stockholder wish to sell its/his/her common shares in Paxys to the Buyer, the stockholder must instruct the PSE Broker to electronically transfer its/his/her common shares to the Tender Offer Agent, as custodian for such shares, on or before 12:00 p.m. on 29 September 2014 and instruct such broker or custodian to complete, execute, and return to the Tender Offer Agent prior to 12:00 p.m. on 29 September 2014 the Application to Tender Shares in accordance with the instructions in the aforementioned Application to Tender Shares.

When tendering shares, the PSE Brokers are required to submit a letter to the Tender Offer Agent (in the form attached as ANNEX "H" of the Report) on or before 12:00 p.m. on 29 September 2014, as well as the duly completed Application to Tender Shares and other documentary requirements.

The Tender Sellers shall have the right to withdraw the Tender Shares at anytime during the Tender Offer Period, by filing a written notice of withdrawal with the Tender Offer Agent before 12:00 p.m. of 29 September 2014.

Stockholders are advised to read the Application to Tender Shares, the Terms of the Tender Offer and the Report, copies of which may be obtained from the Tender Offer Agent, at the following contact details:

AB CAPITAL SECURITIES, INC. Units 1401-1403, 14th Floor Tower One & Exchange Plaza, Ayala Triangle Ayala Avenue, Makati City

Attention: Rebecca M. Sacueza(+632) 898-7617 Jessie Mae Esmani(+632) 898-7520

(PDI--Sept. 1, 2 & 3, 2014)